PETERSBURG BOROUGH

MIDDLE HARBOR FLOAT REPAIR

PLANS

Volume 2 of 2

Prepared By:

D
ENGINEERS, INC.
9360 Glacier Highway, Suite 100
Juneau, Alaska 99801
(907) 586-2093

APRIL 2015




PETERSBURG BOROUGH
MIDDLE HARBOR FLOAT REPAIR
APRIL 2015

( . \ ( DRAWING INDEX A
\%(’)0\/ SASBY SHEET NO. ‘ DWG. NO. ‘ TITLE
Q/% ISLAND
3 GENERAL
@‘&Q 1 OF3 1.01 TITLE SHEET AND VICINITY MAP
x Q@ 2 OF3 1.02 GENERAL SITE PLAN
S / 3 OF3 2.01 EXISTING CONDITIONS AND DEMOLITION PLAN
° e REFERENCE DRAWINGS
1.01 COVER SHEET, VICINITY MAP AND DRAWING INDEX
TN % 3.0 TYPICAL MAINWALK 1 FLOAT UNIT
S?AL&HS%ST ; PROJECT : %p 313 MAINWALK END BALLAST FLOAT
LOCATION P%TOEFE%OSE(L;JHRG ’@f\ 3.14 HEADWALK AND MAINWALK FLOAT UNIT DETAILS
LOCATION MAP 3.15 HEADWALK AND MAINWALK FLOAT UNIT DETAILS
""""""""""""" 3.16 HEADWALK AND MAINWALK FLOAT UNIT DETAILS
G@Q) O\ﬂs 3.17 MAINWALK END BALLAST FLOAT DETAILS
W?”W SP’?X” 318 MAINWALK END BALLAST FLOAT DETAILS
3.20 4—FT X 26—FT FINGER FLOAT UNIT
3.22 FINGER FLOAT UNIT DETAILS
3.8 EQUIPMENT SUPPORT DETAILS
o 3.29 EQUIPMENT SUPPORT DETAILS
ARFORT 3.30 EQUIPMENT SUPPORT DETAILS
k / 6.01 ELECTRICAL SITE PLAN
6.02 SINGLE LINE & WIRING DIAGRAMS, PANEL SCHEDULES
SITE PLAN 6.03 POWER PLAN & DETAILS APPROACH
6.04 POWER PLAN HEADWALK & MAINWALK 2
6.05 POWER PLAN MAINWALK 1
PETERSBURG 6.06 LIGHTING PLAN HEADWALK /MAINWALK 1 & 2
7 N 6.07 CABLING PLAN HEADWALK
PROJECT SCHEDULE 6.08 CABLING PLAN MAINWALK 1
DESCRIPTION SCHEDULE 6.09 CABLING PLAN MAINWALK 2
TRIC VP
FINAL COMPLETION OCTOBER 31, 2015 6.12 ELECTRICAL DETAILS LANDING FLOAT/UTILITY SHED
1.04 DOMESTIC WATER LINE DETAILS
1.05 DOMESTIC WATER LINE DETAILS
SOUTHEAST ALASKA ~ 4 - 4
*NOTE:

CONTRACTOR SHALL COORDINATE WITH THE OWNER AND MAKE EVER EFFORT POSSIBLE TO LIMIT
THE WATER AND ELECTRICAL UTILITY "SHUT-DOWN” TIME THAT WILL OCCUR BETWEEN DEMOLITION
OF THE EXISTING FLOAT MODULE AND INSTALLATION OF THE NEW REPLACEMENT FLOAT MODULE.

PND ENGINEERS, INC. (PND) IS NOT RESPONSIBLE FOR SAFETY PROGRAMS, METHODS OR
PROCEDURES OF OPERATION, OR THE CONSTRUCTION OF THE DESIGN SHOWN ON THESE
DRAWINGS. DRAWINGS ARE FOR THE USE OF THIS PROJECT ONLY AND ARE NOT INTENDED FOR
REUSE WITHOUT WRITTEN APPROVAL FROM PND. DRAWINGS ARE ALSO NOT TO BE USED IN ANY
MANNER THAT WOULD CONSTITUTE A DETRIMENT DIRECTLY OR INDIRECTLY TO PND.

R E NV =1 O = 9360 Glacier Highway Ste 100

REV. DATE DESCRIPTION DWN.| CKD. | APP. ‘ ‘ m Juneau, Alaska 99801

PETERSBURG, ALASKA
MIDDLE HARBOR FLOAT REPAIR

Phone: 907-586-2093
Fax: 907-586-2099

E N G l N E E R87 lN C' \V\V‘Y.l)ﬂdeﬂgiﬂeers.C()m
SHEET TITLE:
o TITLE SHEET, VICINITY MAP || 1.01
. MS . ’
DESIGN: —— . CHECKED: — AS SHOWN AND DRAWING |NDEX SHEET
orawn: __WRB approveD: YLD : /14/ KPND PROJECTNO.. 152010 j 1 0F 3




IS

T-203

|STON &
PRUDDEP

FLOATING

SHOP

TRANSIENT SKIFF FLOAT

(-

HARBOR WAY

APPROX. LIMITS CONTRACTOR
STAGING AREA. FINAL BOUNDARIES
TO BE DETERMINED BY OWNER.

OCEAN BEAUTY WOOD TRESTLE

WATER ME
MANHOLE

|
T Y .
WF{Q“/

6" D.l-

L1 I — ] /
CMP — pROJECT
2 eze0 W/ e
BATION:
7R ROCKS L0 surveY
jo sl NOTES.
8” D.I.

—

¥ AL
oy A
=

WELLS,
FARGO

BANK
BUILDING

cJon STREE

L — < » [
" L o Yl /
T —_— o @
) o e B g GANGWAY
- - -2 -1 -2 -3 o\
T R - 5 : Sae——— o LANDING FLOAT * | & |
- _ - S B -5 VR N
0 . A ? Y e . UTILTY SHED 2 PN, 4
‘ - b h - e i 0
3 ‘ ® . - “10 N COVERED ALUMINUM PETERSBUR
d K . GANGWAY )
. R . ! ’ APPROACH DOCK
2 _14 I [ g 7 _ _ ~ _ - A _ - _ _ _ q
P -1 : B o o ’
. % MAINWALK 1 " H . 1 R | S | N | 1 @
N \ - T =
; B : B ; 2 . ~, 0 Y =]
- - - S T - - - - - - - - Hs - ? 7 7 1 & .
s * A Tl eeeenens e 2 —— -
Vo Py o
MIDDLE ) ’ — .
a4 Ny N -
- 2 HARBOR #x26' FINGER —2 / 3 oo ML Y
FLOAT, TYP.
iM% e R R 12 _ _ _ _ _ _ _ _ _ B
_7 { = S E — N \
a 12 2 Y ] - S
: B} N e
” MAINWALK 2 i . . S | EENN = S A
. 6 /@ s VIATIVHAL e N v \
. e _ e 4 D i — S i, y
= U - ~e e ~15 K — N 0 = — 7
S5 U U U U _en U U U 4 U N . g = TEEL g
STEEL PILE, TYP. o s ; i - 4 NG ?:Lw@s\\ e
o % ~ o g R
S o » 3 el e a7 - AN AN
g 2 g Loe HEADWALK "7 %" " - = v, WLSON
9 FLOAT . . Tanos )
g b @ zny o EN LEZEEE ro
) / \ ; 4x32' FINGER .8 o A
MOORAGE FLOATS, TYP. X ] 2 FLOAT, TYP. - o 8Tl
2 - U g
. e R "® s © e i e
- o WORK FLOAT
P h . . % e ~7s ) A 7 - \
Ve /\V\ ) —16 ° i N S o
P © N o 7! > 9
T » s e ps;{?k%f?
L r S i / '
SOUTH . e s 3 \ )
Q © \ & s 2
HARBOR K L &
79 ¥ G 2 5 - 12 % //%
" —1 b
CRANE DOCK SE g w‘ﬁ’z
/\Q \?ﬂ ~
o -1 ~osNF DOCK
GENERAL SITE PLAN
REVI S O = 9360 Glacier Highway Ste 100 T PETERSBURG, ALASKA
REV.| DATE DESCRIPTION DWN.| CKD. | APP. Juncau, Aaska 99801 S OF 4,1

PIINEID

ENGINEERS, INC.

Phone: 907-586-2093
Fax: 907-586-2099
www.pndengineers.com

JJ

SCALE:
checkep: L0 SCALE IN FEET

approvep: YLD 0 50

DESIGN: &

orawn: WRB

MIDDLE HARBOR FLOAT REPAIR

SHEET TITLE:

GENERAL SITE PLAN

1.02

SHEET
OF




REMOVE AND SALVAGE WATER PEDESTAL
AND HEAT TRACE JUNCTION BOX

DISCONNECT SUBMERGED WATER LINE
AND SALVAGE CONNECTION HARDWARE
(SHOWN SCHEMATICALLY)

REMOVE AND SALVAGE 4'x2
FLOAT, TYP.

6x BULLRAIL, TYP. REMOVE AND SALVAGE Fl

6" FINGER

NGER /MAINWALK

FLOAT PIANO HINGE CONNECTION, TYP.

6x END BULLRAIL

ALUMINUM FISH CLEANING
STATION. (TO BE REMOVED BY
| OWNER PRIOR TO PROJECT)

REMOVE AND SALVAGE ELECTRICAL O O
ACCESS PLATE, TYP.
W ¢ W N W
o I o ) T T ° o T ™ —_— = 'S T T T m— > - o —_———
| = I
M i /1
) miiiliniiim ] -
I
I \ [
—w— = — = L N __ % 2 =—L -y p——C R ——

e

FLOAT MODULE IDENTIFIER, TYP.
REMOVE AND SALVAGE FIRE EXTINGUISHER CABINET

REMOVE AND SALVAGE COMPLETE ELECTRIC
PEDESTAL ASSEMBLY, TYP.

REMOVE AND SALVAGE LIFE
RING CABINET

REMOVE AND SALVAGE STEEL
EXTERNAL PILE HOOP, TYP

REMOVE AND SALVAGE
MAINWALK PIANO HINGE
CONNECTION

EXISTING CONDITIONS AND DEMOLITION PLAN

DEMOLISH FLOAT MODULE 10.
SALVAGE ITEMS AS NOTED.

FINGER FLOAT STEEL HINGE WELDMENT
(4—FT WIDE), TYP. (SALVAGE)

(4=FT WIDE), TYP. (SALVAGE)

FINGER FLOAT STEEL HINGE WELDMENT

STEEL COUNTERWEIGHT
PLATE, TYP. (SALVAGE)

WORK SUMMARY/DEMOLITION NOTES:

THE WORK INCLUDES THE DEMOLITION OF AN EXISTING 10'x60" FLOAT, FABRICATION OF
A NEW 10'x60" REPLACEMENT FLOAT, AND THE SALVAGE AND REINSTALLATION OF
ITEMS FROM THE EXISTING FLOAT AS NOTED.

1. SALVAGE ALL HINGES, WELDMENTS, FINGER FLOATS, PILE HOOPS, COUNTERWEIGHTS
AND ALL ASSOCIATED HARDWARE FROM THE EXISTING FLOAT AND INSTALL ON THE
NEW REPLACEMENT FLOAT.

SALVAGE ALL COMPLETE ELECTRICAL PEDESTALS ASSEMBLIES, LIGHTING, CABLING,
HEAT TRACE, AND ASSOCIATED HARDWARE FROM THE EXISTING FLOAT AND
INSTALL ON THE NEW REPLACEMENT FLOAT.

SALVAGE WATERLINE, HANGERS, WATER PEDESTAL AND ALL ASSOCIATED
HARDWARE FROM EXISTING FLOAT AND INSTALL ON NEW FLOAT. DISCONNECT
EXISTING SUBMERGED WATER LINE FROM EXISTING FLOAT AND PROVIDE TEMPORARY
SUPPORT FOR LINE UNTIL REINSTALLED ON NEW REPLACEMENT FLOAT.

SALVAGE LIFE RING AND FIRE EXTINGUISHER CABINETS AND ALL ASSOCIATED
HARDWARE FROM EXISTING FLOATS AND INSTALL ON NEW REPLACEMENT FLOAT.

** CONTRACTOR WILL BE REQUIRED TO HIRE A QUALIFIED, CERTIFIED ELECTRICAL
SUB-CONTRACTOR TO PERFORM ALL NECESSARY ELECTRICAL DEMOLITION, SALVAGE
AND INSTALLATION WORK REQUIRED FOR THIS PROJECT.

STEEL COUNTERWEIGHT
PLATE, TYP. (SALVAGE)

e
T - - NE . : : : . RN . . . . . . oI . . . o e N1 111
el | { 6 ® ¢ ¢ I/ -l B B [ ]
dlloll o o o H o o) o) HH o ) H i oll o HH HH ol _|lo olllo H o o o — _lo[o “ ] olllloD
==Hp {H== 1 1 1 1 1 1 1 ==Hp H== 1 1 1
ajo|f o © oFF o o O ¥EF |0 ot il =i B o[ o oflo[E=Flo o o[ FEF |o[ |o ISliniegjimte
g x 1] == T 71 [’ A r A r —-= H==H ) ° ) A A r
b ==t - - JH DL
‘ o i
| -t == -- -] --
o) =======(e¢} o= FE—JoE=FE——J]oE] L . . . .
j; :E I | [ ‘;ﬂ (L] \[ i [ | | [ | Il | 1\ %
][ T T T T1 I
O
- . L J i Y T O I
= ot =t=t=o1 M e ===l o ===lo=t 1 o C
| %::ﬁ %:: -- -- == DECK\N(D
AN | |
i === == =3 == = == i === % ° ° aoclooloofoo|ooleo|se]os|ooleocooss|oolsolodlrlio
—=Hp H==th | L L] = ::b q:: == H==H| J ° 3
=B lo o) ol k=P o o H | o] =P o o ol afF#. Jol |o o ollo|lE=1n o) o| | @
11 - 1 T 1 T 1 dtr 1 (0]
o] o] —|o o o o o o o[]o o) o] T
o o o o i \QNE ¢ ® ¢ ¢ ! o 150 ° g ° ° JeE==.LYLLLLLLLLLL.
[ECECTRICAL PEDESTAL BASE, TYP. (SALVAGE) |/
ELECTRICAL PEDESTAL BASE, EXTERNAL STEEL PILE
STEEL MAINWALK HINGE WELOMENT (THIS END ONLY) (ESX;ESEQEL) STEEL PILE HOOP TYP. (SALVAGE) HOOP. (SALVAGE)
(SALVAGE) MAINWALK END BALLAST FLOAT UNIT (UNIT 10) - PLAN
(NOTES: SEE REFERENCE DRAWINGS FOR DETAILS NOT SHOWN)
T AT == ng‘sc?p‘mﬁ ™ = B 9360 Glacier Highway St 100 ~““S‘F“A" " PETERSBURG, ALASKA
. . . . au, Alaska 99801 S\ /
‘ ‘ D Sl MIDDLE HARBOR FLOAT REPAIR
Phone: 907-586-2093 /]
Fax: 907-586-2099
E N G l N E E R S E) 1 N C \V\v\x‘.pndengincers.c()m
SHEET TITLE:
SoAE EXISTING CONDITIONS AND 2.01
o MS D * SCALE IN FEET
DESIGN: =2 CHECKED: ] DEMOLITION PLAN SHEET
orawn: _WRB  approven: LD 0 5 10 FT. KPNDPROJECTNO.: 152010 oF 3




PETERSBURG BOROUGH
MIDDLE HARBOR FLOAT REPAIR

REFERENCE DRAWINGS

THE FOLLOWING DRAWINGS REPRESENT A PARTIAL SET ONLY

OF SELECT DRAWINGS FROM THE ORIGINAL 2005 MIDDLE HARBOR
DESIGN DOCUMENTS THAT ARE INTENDED TO PROVIDE THE
INFORMATION NECCESARY TO FABRICATE THE REPLACEMENT
FLOAT MODULE UNIT 10 AND TO AID IN THE REMOVAL, SALVAGE
AND REPLACEMENT OF THE EXISTING WATER AND ELECTRICAL
UTILITIES FOR THIS PROJECT. ADDITIONAL DRAWINGS AND/OR
INFORMATION MAY BE OBTAINED FROM PND ENGINEERS, INC.
UPON CONTRACTOR’S REQUEST.




f DRAWING INDEX )

SHEET NO.| DWG. NO. TITLE

CITY OF PETERSBURG, ALASKA —

1.01 COVER SHEET, VICINITY MAP AND DRAWING INDEX
OF 45 1.02 LEGEND, ABBREVIATIONS, AND GENERAL NOTES

1

2

3 OF 45 1.03 EXISTING CONDITIONS AND DEMOLITION PLAN
4 OF 45 1.04 DEMOLITION_DETAILS

5]

OF 45 1.05 GENERAL_SITE PLAN

GANGWAY AND APPROACH DOCK
OF 45 2.01 APPROACH DOCK & GANGWAY SITE PLAN
OF 45 2.02 APPROACH DOCK MODIFICATION DETAILS
OF 45 2.03 APPROACH DOCK MODIFICATION DETAILS
OF 45 2.04 GANGWAY PLAN AND ELEVATION

6
7
8
9
\ 10 OF 45 2.05 GANGWAY TYPICAL SECTION & DETAILS
1
12

N

QY \
©F  SOUTHEAST \\
ALASKA

OF 45 2.06 GANGWAY DETAILS
OF 45 2.07 GANGWAY DETAILS

SASBY
ISLAND

MOORAGE FLOATS

13 OF 45 3.01 OVERALL FLOAT PLAN AND PILE PLAN
14 OF 45 3.02 PILE SCHEDULE AND DETAILS

15 OF 45 3.03 HEADWALK FLOAT PLAN

16 OF 45 3.04 MAINWALK 1 FLOAT PLAN

17 OF 45 3.05 MAINWALK 2 FLOAT PLAN

18 OF 45 3.06 HEADWALK FLOAT UNIT 1

19 0OF 45 3.07 HEADWALK FLOAT UNITS 2 AND 3

20 OF 45 3.08 HEADWALK FLOAT UNIT 4

LOCATION MAP

SKAGWAY AP = 27 OF 45| 3.09 TYPICAL MAINWALK 1 FLOAT UNIT
HAINES LY % <, 27 OF 45| 3.0 MAINWALK 1 FLOAT UNIT 1
v;-/-- =, 23 OF 45| 311 TYPICAL MAINWALK 2 FLOAT UNIT
S e e oF TR N 24 _OF 45| 3.2 MAINWALK 2 FLOAT UNIT 1
‘PETERSBURG 0 A 25 OF 45 313 MAINWALK END BALLAST FLOAT
26 OF 45| 3.14 MAINWALK /HEADWALK FLOAT UNIT DETAILS
27 OF 45| 3.15 MAINWALK /HEADWALK _FLOAT UNIT DETAILS
28 OF 45| 3.16 MAINWALK /HEADWALK_FLOAT UNIT DETAILS
29 OF 45 317 MAINWALK END BALLAST FLOAT DETAILS
30 OF 45| 3.18 MAINWALK END BALLAST FLOAT DETAILS
31 OF 45| 3.9 4ft. x_32ft FINGER FLOAT DETAILS
32 OF 45| 3.20 4ft. x 26ft FINGER FLOAT DETAILS
33 _OF 45| 3.21 3ft. x 18ft FINGER FLOAT DETAILS
- 34 OF 45| 3.22 FINGER FLOAT UNIT DETAILS
Al 35 OF 45| 3.23 FINGER_FLOAT UNIT DETAILS
é 36 OF 45| 3.24 GANGWAY LANDING FLOAT
A _ 137 oF 45] 3.25 GANGWAY LANDING FLOAT DETAILS
N 38 OF 45] 3.26 GANGWAY LANDING FLOAT DETAILS
S 39 OF 45] 3.27 GANGWAY LANDING FLOAT DETAILS
z 40 OF 45| 3.28 EQUIPMENT _SUPPORT DETAILS
= 41 OF 45| 3.29 EQUIPMENT SUPPORT_DETAILS
§ 42 OF 45 3.30 EQUIPMENT SUPPORT DETAILS
=
k 3 : UTILITY SHED
; R : - 43 OF 45| 401 UTILITY SHED DETAILS
SEAPLANE FLOAT RECONFIGURATION
7 N 44 OF 45| 5.01 FLOAT RECONFIGURATION SITE PLANS
. FLOAT RECONFIGURATION AND MODIFICATION DETAILS
[ PROJECT SCHEDULE ) s
ELECTRICAL
DESCRIPTION SCHEDULE E1 OF 14| 6.01 ELECTRICAL SITE PLAN
IN-WATER WORK RESTRICTIONS: NO WORK ACTIVMITY | MARCH 15 — JUNE 15, ANY YEAR E2 OF 14] 6.02 | SINGLE LINE & WIRING DIAGRAMS, PANEL SCHEDULES
SHALL BE ALLOWED BELOW THE TIDAL ELEVATION E3 OF 14| 6.03 POWER PLAN & DETAILS APPROACH
E4 OF 14| 6.04 POWER PLAN HEADWALK & MAINWALK 2
EARLIEST FIELD START SEPTEMBER 1, 2005 ES OF 14 6.05 POWER PLAN MWNNWALK 7
_ E6 Of 14| 6.06 [IGHTING HEADWALRK/MAINWALK T & 2
ADDITIVE ALTERNATE A PRESCRIBED WORK PERIOD OCTOBER 1-10, 2005 B oF 60 P e LR
SUBSTANTIAL COMPLETION ALL ITEMS DECEMBER 31, 2005 E8 OF 14 6.08 CABLING PLAN MAINWALK 1
E9 OF 14| 6.09 CABLING PLAN MAINWALK 2
?15‘.2%83‘455:?0“ OF AL HORIC UNDER JANUARY 15, 2006 E10 OF 14] 6.10 ELECTRICAL DETAILS GANGWAY
& ) E11 OF 14| 6.1 ELECTRICAL DETAILS
£12 OF 14 612 ELECTRICAL DETAILS LANDING FLOAT / UTILITY SHED
= ) -
PND, INC. CONSULTING ENGINEERS (PND) IS NOT RESPONSIBLE FOR SAFETY PROGRAMS, METHODS g;igmq?hofEAEleiQ:ﬁGHL?GAHTnNG PLAN SINGLE
OR PROCEDURES OF OPERATION, OR THE CONSTRUCTION OF THE DESIGN SHOWN ON THESE E13 OF 14| 7.01 DINE & LEGEND
DRAWINGS. DRAWINGS ARE FOR THE USE OF THIS PROJECT ONLY AND ARE NOT INTENDED FOR
REUSE WITHOUT WRITTEN APPROVAL FROM PND. DRAWINGS ARE ALSO NOT TO BE USED IN ANY E14 OF 14] 702 | SEAPLANE FLOAT NEW LIGHTING PLAN
MANNER THAT WOULD CONSTITUTE A DETRIMENT DIRECTLY OR INDIRECTLY TO PND.
\ Y,

CONSULTING

REVI IS ON S Y 3220Hosp|manveszoa e ~‘\\\(\)\'._\n... N
REV.| DATE DESCRIPTION DWN.] CKD. | APP. ‘ ‘ m Juneaw, Alaska 99801 S 4(4‘5‘:,' PETERSBURG, ALASKA

MIDDLE HARBOR RENOVATION

ENGINEERS Phone: 907-586-2093

Fax: 907-586-2099 \
\InCOl‘pOtath www.pnd-anc.com ) ‘ : (" BHEET TMLE, COVER SHEET. VICINITY 1 01\
4 SCALE: N P ! .
pesian _CRS  cumexen, _JLD_ AS SHOWN U I|““\\\\~~ MAP AND DRAWING INDEX eHEET
| ) \orawn. _PJD__ approvep, CRS ) \oate_4/08/05 ) { pmap proset H0.042011.02] pwa. Fue 1.01.0WG PAGK.ED




¢
¢
_ . FLOAT HINGE
27'-6 1/2 28'-0" |
& ¢ e ¢ ¢ s 5 1/8" GLULAM DIAPHRAGM, TYP
— 5% FINGER -0 DIAPH 80" DIAPH — p_g~ I 50" FINGER FINGER FLOAT HINGE WELDMENT, TYP 3x BILLET KEEPER BLOCK, TYP
Z| = | V6 [ TYP | 5 1/8" GLULAM BEAM, TYP
3| = FINGER FLOAT HINGE WELDMENT, TYP i
3l B | L SHoop STRIGER STRINGER | 6x STRINGER, TP AILE HooP |
ul |6 : | 3-0" | *4-0" | 2-0"_, l g-0" 1
& I° | : ! WP 7 | :
2l 8 L
I S e T e IO e B v B v B | orn B wru B [rn B |
L] B . e . . . T . AR s /7 I J- . 3 T 1
H[e] o] o] o] o] o] o] o] / / o] o] // o] o] COESLL
== - == ==H g 3
==J | == == " " H== ==H ==H " i == it == f W W /] H== ==H I
E=mTgo o 37 yo ol o'\,_n@:= o) o = g I} o 7—lo 2 B ol—77 o ol o o[ A CHES A
, - %‘r_ S b &b /. . [/ f i T/
- = =| ) S
1.
] f . . . . . |
1 ! I )
° - r4
h i - - . oE
ram o eefo pfPolec]ecfocfcefeflecfeclocfee
5 . T . q
- 7. -DECKING ]
- w5 : = G ’ !
o (o . 7 : 4 =p T ! : : =P - eoleole ol o] e b ol o
=y o of_Ex i )N o o Y o 5 o o) o T - o
E‘ | ==l di== " i ::/ - == H--lh " " ==t i == i " /' == b=
gxtleimp fe} o] o] o] o] ] o] o] o] o) o] o] o] o] / o] o] o]
4
- M H== == &3 S5 = = == H== =9 ==
° ) ° ) ° ° N o o ° . ° ) o) o) o = =
T | > / \ K / : { RREe== =
\ | ISt LD IS R Il B | 1
B
31/ DIAPHRAGM CONNECTION ANGLE. CHAMFER BILLETS O 2-67¢
AS REQD TO CLEAR ANGLE AND BOLTS, TYP ¢ TP
PLATE

2x RUBSTRIP, TYP
2x NAILER, TYP

ELECTRICAL PEDESTAL BASE, TYP
EXTERNAL STEEL PILE HOOP, TYP

STEEL COUNTERWEIGHT PLATE, TYP
LOCATE AS SHOWN (12 TOTAL)

5"¢ UHMW BULLRAIL POST, TYP

7

2x SUB-DECK PLANK. ATTACH SUB-DECK TO EA. STRINGER

w/ (2)-8 GA. 30d HOT-DIP GALV. SPIRAL SHANK NALLS, TYP

PREDRILL TIMBERS AS REQ'D PER A..T.C.

TYPICAL MAINWALK 1 FLOAT UNIT - PLAN

** TYPICAL STRINGER SPACING SHALL BE 4'-0" MAXIMUM. STRINGER
SPACING MAY VARY AND ADDITIONAL STRINGERS WILL BE REQ'D AT
PILE HOOPS, FINGER FLOATS AND OTHER FLOAT/FLOAT CONNECTIONS.
SEE INDIVIDUAL DETAILS FOR STRINGER LOCATION REQUIREMENTS.
EACH BILLET SHALL BEAR AGAINST A MINIMUM OF (2) STINGERS.

6x6 STRINGER,

TP

DECK TO SUB-DECK NAIL PATTERN, TYP

ELECTRICAL ACCESS PLATE. CENTER BTWN.
DECK PLANKS AS SHOWN, TYP. LOCATE PER

FLOAT PLAN.

6x BULLRAIL, TYP (SEE FLOAT PLAN)

STRINGER CONNECTION ANGLE, TYP

/

STEEL HINGE WELDMENT EACH
END OF FLOAT UNIT, TYP
MIDDLE PIPE PIECE THIS END ONLY

STEEL HINGE WELDMENT, TYP

6x BULLRAIL, TYP ¢ ¢ ¢ ¢
¢ & POST BULLRALL PILE HOOP FLOAT 2x6 DECK PLANK, TYP ELECTRICAL PEDESTAL BASE
HINGE FINGER i FIN%ER 2x SUB-DECK PLANK PILE %oop
| | | | | |
| | | |
G 77 7 T ;=) A
- 7 ~/ 1] X
o =5 = = & = A ZHe - oFs A A e
g N : ; o DN - od—iho T = 21~ Y =% Y =
?{,' ST T N T LN T LN Y 0. ° pe i a = =
gg’hﬁéc'%rﬁ%%g C1'§ x4 BILLET KEEPER BLOCK, TYP 5125"x 13.5" GLULAM END DIAPHRAGM, TYP /
\ DIAPHRAGM CONNECTION ANGLE, TYP
POLYSTYRENE BILLET, TYP A\ SECTION 5.125"x 13.5" GLULAM INTERIOR DIAPHRAGM, TYP
BILLET KEEPER BLOCK CONNECTION (TYPE 2) - JNOTE: NOT ALL FLOTATION BILLETS )
SHOWN FOR CLARITY.
REN SIOMN S N ] NNy N )
. - L]
REV.] DATE DESCRIPTION DWN.] CKD. | APP. ‘ ‘ m fﬁiﬂfﬁ;ﬁ,ﬂ;’;ﬁf"m ( S OF 4(,,}% PETERSBURG, ALASKA
zc-:(\)-l:;Sl UNL!;I‘::T‘E Phone: 907.586.2093 Y MIDDLE HARBOR RENOVATION
: Fax: 907-586-2099 J
Incorporated oo b 1= <
kN 2| it 3.09
SCALE, (] & .
[mmﬂ. D CRS \rs J l,..“““\‘ss TYPICAL MAINWALK 1 FLOAT UNIT
1) \orawn _JLD apprOVED, CRS \pAve,___4/8/05 \_PHaD PROJECT No.. 042011.02 | Dwa. FLE.  309.DWG ) \21 of 45




HII?' GE &
30" FLOAT 30'-6 1/2"
¢ D.EPH . D.EPH . | . ¢ STEEL COUNTERWEIGHT PLATE, TYP -
FINGER 12'-6" i 9'-0 4'-6 ! 10'-0 FINGER LOCATE AS SHOWN (8 TOTAL S
TP . o =
I - FINGER A MEN I 5 1/8" GLULAM BEAM, TYP al |<
| FINGER FLOAT HINGE WELDMENT (4—FT WIDE), TYP ’ P"'ETH 0oP STR,%GER ’ (4N_GF!§r V;B?:)'T HINGE. WELDMENT | o ok SEA e Froop 3
| _n" | '_a" '
} 5-0 } “3m? | ‘ 2x NAILER, TYP 5 s
[ ' 1
‘ ’ I 6x STRINGER, TYP Y o
wa M wu r B o B ol IS
; Fﬁmhj— > i -
o o 6 6 6 o ° o ° o ° ° . ° ° . ° ° ° o ° o ° o|le
B L L L He= = | == T= - H--thH--H Ll
<+ o (¢ ) ) o "] o o o ofllo o 7 1o // o o[ Jo[ =5t o[tk
== " " 1 n " 1] n | 3§ == : ==| " ] " || A 2 Al
I—_J_ (o] o o[- o ¥E- o S i F |o o offlei o o[~/ o = = iBEjmieicen
b 0 == 5 . 4 ==tb A==t T v g r I -_J
T A 2 7 o) == == == * s . / S * 3 bt c
i["s " n / . Nau
| — - / . / . I ] . I l . I I . I .
— A h .
= willy =
& Lol R / 1A\ = ~DECKING-|
¥ i bt A /) / J |
S J o, I CH =P = = E == 7 S T O O O O O A ot .
1f== - == % ..J:IT" :1-. ::P q:: \ == == .J s > |
o o s oD = o _Q = o o o = o Hlol$=1 [ lo ol |
[H4 L o i noon // o = N \\ \\\\ o o ) o 05 = i // o oF
=i : K5 ) ] ol o ) ) ) o VoI . Big : o ,_@
[ - / TN ¢ NN\ ¢ s | _ | / == | JLYLLLLLL
Q \5 1/8" GLULAM DIAPHRAGM, TYP ELECTRICAL PEDESTAL BASE/ /
4x BALLAST DRUM HANGER, TYP
OAPHRACH COMNECTON ANCLE. CHAUFER BILETS SLEE A ACSES FATe, s v
POLYETHYLENE BALLAST DRUM, TYP R AS REQD TO CLEAR ANGLE AND BOLTS, TYP FLOAT PLAN. o
18" FIBERGLASS ELECTRICAL CABLE TRAY ELECTRICAL PEDESTAL BASE, TYP 2x SUB-DECK PLANK. ATTACH SUB-DECK TO EA. STRINGER 6x BULLRAIL, TYP (SEE FLOAT PLAN)
EXTERNAL STEEL PILE HOOP w/ (2)-8 GA. 30d HOT-DIP GALV. SPIRAL SHANK NAILS, TYP
STEEL HINGE WELDMENT (THIS END ONLY) PREDRILL TIMBERS AS REQ'D PER A.LT.C. EXTERNAL STEEL PILE HOOP
MAINWALK END BALLAST FLOAT (UNIT 10) - PLAN
NOTE: GLULAM DIAPHRAGM AND BEAM DEPTHS INDICATED * TYPICAL STRINGER SPACING SHALL BE 3'-0" MAXIMUM. STRINGER
ON THE DRAWINGS ARE THE MINIMUM DEPTH REQD. SPACING MAY VARY AND ADDITIONAL STRINGERS WILL BE REQ'D AT
ggyTTHRgCTTgRBEM% %’;08250&0TE’ET%%%.SLE,L‘ELE‘{LAM PILE HOOPS, FINGER FLOATS AND OTHER FLOAT/FLOAT CONNECTIONS.
DEPTH SHOW 10 ENSURE BILLET PROTECTION SEE INDIVIDUAL DETAILS FOR STRINGER LOCATION REQUIREMENTS.
DURING HANDLING OPERATIONS.
ELECTRICAL PEDESTAL BASE
STEEL HINGE WELDMENT (THIS END ONLY) ¢
FLOAT 20'-0" BUL%RAIL
BALLAST DRUM CONNECTION BOLT, TYP pOQST BULLRAIL 160" BUL%R AL 6x6 STRINGER, TYP 5°9 UHMW BULLRAIL POST, TYP ] pgo%m_
7] : ' I 2x6 DECK PLANK, TYP 6x BULLRAIL, TYP I ¢ 2
FINT:ER I ! i_gr PILE | 0oP g_g" 12" 2x SUB-DECK PLANK FINCfER STRINGER CONNECTION ANGLE, TYP ' , Gf'LEI C:?Pw_ =
| - _
! | r | ! : s
L 4 = i == e I I [=]
8 . e e e e e = i e e e e o o
< (@) = /' -~ < —~ 1 OO TX]
: :f ° : o =2 ° Ebo A ° ;Do ° ;;
_ R pe =l = b EX = =
3x4 BILLET KEEPER BLOCK TYP/ . . DIAPHRAGM CONNECTION ANGLE, TYP
' 5.125"x 19.5” GLULAM DIAPHRAGM, TYP ! '
POLYSTYRENE BILLET, TYP / AN SECTION 5.125% 13.5" GLULAM INTERIOR DIAPHRAGM, TYP
POLYETHYLENE BALLAST DRUM, TYP - 5.125" x 19.5° GLULAM END DIAPHRAGM, TYP
AST DRUM HANGER, TYP
4x BALLAST D NOTE: NOT ALL FLOTATION BILLETS AND BALLAST DRUMS SHOWN; ELECTRICAL CABLE TRAY
NOT SHOWN THIS VIEW FOR CLARITY. FLOTATION BILLETS AND BALLAST DRUMS ARE
SYMMETRICAL ABOUT CENTERLINE OF FLOAT. FLOAT DETAILS NOT SHOWN SIMILAR TO
TYPICAL MAINWALK FLOAT UNIT.
FRE NI SIOMN = ) 3220 Hospil Dﬁwsmm\ ™
REV.| DATE DESCRIPTION DWN.] CKD. | APP. m Juncau, Alsska 99801 PETERSBURG, ALASKA
CONSULTING | ppo oo oo MIDDLE HARBOR RENOVATION
ENGINEERS
Fax: 907-586-2099
Incorporated woprismcm | ;
SCALE ) 3-13
[mm 0 GRS e MAINWALK END BALLAST FLOAT !
g )/ \oraww: _JLD _ approvEDs CRS _J \pare.__4/8/05 \_PNaD PROJECT N0 042011.02 | owa. me.  313.DWG j 25 oF 45




DIMENSION ASSUMED TO BE 5 1/2". FABRICATOR
SHALL VERIFY DIMENSION REQ'D FOR TOP OF PIPE
TO BE FLUSH w/ TOP OF ANGLES, AND WELOED
AS SHOWN.

¢
PIP

HIN
SYMM ABOUT

2x SUB—DECK PLANK
7/8"9 ECONOMY HEAD STRINGER
CONNECTION BOLT, TYP

2x12 END RUBSTRIP. ATTACH w/
9 GA. 16d HOT-DIP GALV. SPIRAL

3/4"t GUSSET PLATE SHANK NAILS AT 12° 0.C. T&B

2x6 DECK PLANK, TYP
2x SUB—DECK PLANK
6x6 STRINGER, TYP

PIPE SEGMENT TO ANGLE, TYP

3/8

4"¢ X—STRG STEEL PIPE SEGMENT.
PROVIDE RUBBER BUSHING INSIDE EACH
SEGMENT. FIELD CONNECT HINGE w/
7/8"¢ S.S. HINGE CONNECTION BOLTS.

EDGE OF ANGLE

TYPICAL STRINGER CONNECTION
ANGLE EA. SIDE OF GLULAM

PROVIDE NON—SKID COATING ON TOP HEADWALK/MAINWALK HINGE WELDMENT
OF HINGE ASSEMBLY. HINGE GUSSET PLATE
— . == ! I 2x6 DECK PLANK, TYP
; > \ § )/ / 2x SUB-DECK PLANK
AN, L s = 7 6x6 STRINGER
— § o o o o[~/
4
o o 0o o o’/\ //
3" I AN B 7
D H H o fi===130
. — . 2x6 SPACER BOARD. ATTACH w/ Vi —
ARy EEREE o f=== i 1/2" STFFENER PLATE 9 GA. 16d HOT-DIP GALY. SPIRAL i — 4 N1
A / Y N 4x8 x 3/4"t HINGE BASE ANGLE w/ SHANK NAILS AT 12" O.C. 1 o fI==—=IBo .
7 = A NON—SKID COATING ON TOP LEG 1 5 fl===1ho i ;
A o fl===lpo N 7/8" A307 BOLT, TYP g
7 | i HINGE ANCHOR ANGLE EA SIDE OF GLULAM
/ | ANGLE ¥ACH SOE O DIAPHRAGH, TYP SECTION AT FLOAT END (H-1 AND H-4) —Jho H
7/8%% A307 BOLT, TYP 6 " ) NOTE: FLOTATION BILLET NOT SHOWN FOR CLARITY. 4 O B==={@o n
2" I 1"¢ ECONOMY HEAD DIAPH CONN. BOLT, TYP : : -
v 1"6 A307 DIAPHRAGM CONNECTION BOLT, TYP o f===mo [
5 1/8" GLULAM END DIAPHRAGM 1T H
(INTERNAL DIAPHRAGMS SAME SIZE) o fif==={o H
(A SECTION I

\__/NOTE: FLOTATION BILLET NOT SHOWN FOR CLARITY.

7/8"9 ECONOMY HEAD BOLT w/ M.l WASHER

6x6 BULLRAIL. RADIUS CRNRS 1/4" AS SHOWN.
(PROVIDE (25) EXTRA FOR OWNER)

7/8"¢ ECONOMY HEAD BULLRAIL
CONNECTION BOLT w/ M.I. WASHER

6x6 BULLRAIL. RADIUS CRNRS 1/4"
5"¢ UHMW BULLRAIL POST

2x6 DECKING

6x6 STRINGER, TYP

3 1/2°x 5" ANGLE EA SIDE OF GLULAM

5x5 DIAPHRAGM CONNECTION ANGLE, TYP

¢
PIP
MAINWALK FLOAT HIN

HEADWALK FLOAT

2x HEADWALK FLOAT DECK PLANK
1/2"x 4" HINGE ANCHOR PLATE

TOP SURFACE ROUGH SAWN
2x6 S1S2E MILLED DECKING w/ TOP

EDGES CHAMFERED 1/8" AS SHOWN.

1/8" DEEP

SECTION AT HEADWALK/MAINWALK HINGE

NOTE: FLOTATION BILLET NOT SHOWN FOR CLARITY.

ELECTRICAL ACCESS PLATE

-

TYPICAL DECK PLANK

NOTE: SEE SPECIFICATIONS FOR DECKING REQMTS

1.3/4

TYP

2x8 SUB—DECK PLANK, TYP
5"¢ UHMW BULLRAIL POST L?%J 2x DECKING
2x12 RUBSTRIP. ATTACH w/. BULLRAIL 6x STRINGER
Sp.%‘kL‘SﬂAﬁ%TﬁR}stﬁ%"' | 7/8°6 ECONOMY HEAD STRINGER CONN.
T N B AND AT ' BOLT. CSC HEAD AS SHOWN, TYP
EA. STRINGER AS SHOWN. | 3 1/2°x 5°x 1/2"t STRINGER
STAGGER TOP & BTM. NALS 6", e CONNECTION ANGLE, TYP
NAILS TO BE 2" MIN FROM ENDS. v
PREDRILL TIMBERS AS REQ'D PER M 5x5 DIAPHRAGM CONNECTION ANGLE
ALT.C. TO PREVENT SPLITTING. ; .
; — 2 5 1/8" GLULAM DIAPHRAGM
L 3x BILLET KEEPER BLOCK

v

|

o

:

>

[ee)
— - —Lge
\

4"x18" UTILITY TRENCH
2x6 DECKING. ATTACH TO SUB—DECK w/
9 GA. 16d HOT-DIP GALV. SPIRAL SHANK
NAILS AS SHOWN IN PLAN. PREORILL TIMBERS
AS REQ'D PER ALT.C. TO PREVENT SPLITTING.
2x8 SUB-DECK, TYP. SPACE AS SHOWN
6x6_BULLRAIL. RADIUS CRNRS
1/4" AS SHOWN, TYP
5" UHMW BULLRAIL POST, TYP
2x12 RUBSTRIP, TYP
, 2x8 NAILER, TYP
, i
=<1

j e
:H’—H__f“
=1 7 7 — [ —F7] ¢ X
\/Zriu_:{_\—: S __?Ri’——_\ FLOAT e
- 7 :
=] i i ! 6" ! W
“:TJ“ B ‘ﬁ—] a
33/4 i__ ~ H =T “|><i /fz—(l o= - e E—
= 2-0" £ - = \:&Q_Qg\;ﬁ;@_ —
e = T 7
| L5 T ~7 - ~7 - ~ ]
3/4"0 ECONOMY HEAD NAILER | \  A— L T AL L T Tl T Ml N
CONNECTION BOLT w/ M.l WASHER. —E==3o N\ NN N A N AN N
CSC HEAD FLUSH AS SHOWN, TYP W | Y O (@) S S— s P LySTYRENE BILLETS— ° 7. e~ ' 7.7 7] ]
2x8 NAILER | = = T AT AT AR = 3/4'@ ECONOMY HEAD NAILER
X 1 : \_ —- ~~, o, ey AN ORI m— CONNECTION BOLT w/ M.I. WASHER.
) R R AR S SN
2 1"¢ A307 DIAPHRAGM CONNECTION BOLT, TYP e A P N Bl P B Bl A N S A B R PN smﬁf&: E(:?N;'E‘g%NAiNﬂgmﬁpm
. 1" ECONOMY HEAD DIAPH. CONN. BOLT, TYP CHAMFER BILLETS AS REQD 10
5 1/8" GLULAM BEAM _ CLEAR ANGLE AND BOLTS.
5 1/8" x 19.5" GLULAM BEAM, TYP
Y SECTION TYPICAL FLOAT SECTION /
\_-_/NOTE: FLOTATION BILLET NOT SHOWN FOR CLARIY.
REV I S ONS Y4 . (S, Y4 )
3220 Hospital Drive Stc 200 g ]
REV.]| DATE DESCRIPTION DWN.] CKD. [ APP. ’ E Junm'«»’s&k‘;;oelm Sk OF 4 4\:\0," PETERSBURG, ALASKA
CONSULTING | b o 5003 : MIDDLE HARBOR RENOVATION y
ENGINEERS :
Fax: 907-
Incorporated e o
\ " eHEET TMLE ~
p . HEADWALK AND MAINWALK 3.14
oesiaw _JLO  cumesen, CRS NTS T tvteeedy FLOAT UNIT DETAILS HEET
J ) \orawws _JLO__  approven, CRS \oare.__4/8/05 \_PNaD PROJECT M0, 042011.02 | bwa. e, 314.DWG ) \26 o 45)




5 1/8" GLULAM BEAM, TYP

T

A

\

4"¢ X—STRG STEEL PIPE

w/ RUBBER BUSHING, TYP

2x NAILER /8% A307 BOLT. TYP 2x SUB-DECK PLANK
2x RUBSTRIP, TYP 3 1/2"x 5"x 1/2"t HINGE
ANCHOR ANGLE, TYP
NS § 2 2x STRINGER, TYP . _
\ STFF 10 PIPE, TYP>—7
EDCE OF ANGLE ) GUSSET TO ANGLES, TYP)= | |
| |
||"- Lf_ ] 1— ] I ol -}J
-3 . ot T _
Lt —_— =
o efo—- ===
= &
< w F . Y ——’/\}
| .
o . | | |
o AL WELD END ﬂ[] }
= . j- LATE 7O PIPE ¢ BN :t
v [ |
1EDGE OFYANGLE A H | | \ n \ /il
END OF GLULAM e — — — — = _r__7 ___:.I_____\Y_ _____
fmpmabey a_ peetedeodbonood . - b . g\:;
| LT s A i g é) . =
] I N [ R T R SR
4141 . 5! 63/4 | 3 \
3{“ HOLE FOR 5/16"8 S.S. 34 l.._ ; | VP &
KEEPER BOLT w/ NYLOCK NUT S%FF S%FF &
, 6 1/2" " \/2" 4" x 5'-9 1/2" LONG X—STRG STEEL PIPE PJECE. PIPE
8 6 PROVIDE STIFFNRS EA. END AND AT PIPE MIDPQINT. e
PIPE CLR PIPE CIR PROVIDE MIDDLE PIPE PIECE ONE SIDE OF HINGE BIPE
ONLY (SEE FLOAT PLAN).
7/88 x 110" LONG S.S. HINGE CONNECTION BOLT w/ PLATE
. . . /ASHER, TYP EA. SIDE OF HINGE (PROVIDE (10) EXTRA FOR OWNER)
4.250°0.0. x 0.938.D. x 0.188"t . o
UHMW PLATE WASHER BTWN ALL 1/4"t END PLATE w/ CTR'D 1"6 HOLE
PIPE SEGMENTS, TYP
TYPICAL FLLOAT HINGE CONNECTION - PLAN
(LENGTH OF HINGE BASE ANGLE 10'-0" FOR MAINWALK AND HEADWALK FLOATS)
RUBgER/BUSHING. CHAMFER
- ENDS 1/8" AS SHOWN.
3/4"t GUSSET PLATE 85.) 5/16°¢ S.S. KEEPER BOLT w/ NYLOCK NUT 6.00" e ot 0. U
cliP CRNRS 1/2° AS SHOWN i 7/8°9 S.S. HINGE_CONNECTION BOLT SUEEVE. RUGHER BUSHING StiALL
6x6 STRINGER 61/2 w/ 3 1/2°9 PLATE WASHER / BE BORED TO ACHEVE A TIGHT,
GUSSET 4"¢ X-STRG STEEL PIPE PRESSED—FIT BETWEEN UHMW
w/ RUBBER BUSHING | SLEEVE AND BUSHING.
L A A

==

\_/ﬁlji/A—\_,/ K(

1/2°t x 3" STIFFENER PLATE

4x8 x 3/4"t HINGE BASE ANGLE w/
NON—SKID COATING ON TOP LEG

11

i

-HoO
___O e
i

O

**NOTE:

**NOTE: SEE SPECIFICATIONS FOR DIAMETER REQUIREMENTS

TYPICAL HINGE BUSHING

(BUSHINGS TYPICAL ALL HINGE PIPE SEGMENTS)

FABRICATOR SHALL PROVIDE (12) EXTRA HINGE BUSHINGS FOR OWNER.

4x8 HINGE BASE ANGLE
3/4"t GUSSET PLATE, TYP

WHFF TO ANGLE, TYP

1/2" STIFFENER PLATE, TYP

1'-11 1/2" LEG
TP

>

MAINWALK LEG \
>

.QrS HEADWALK LEG
-0

(4 TOTAL REQ'D;

4"¢ x 0'—6" LONG X—STG STEEL
PIPE w/ RUBBER BUSHING

TS 4x4 PIECE
ANCHOR PLATE TO
HANNEL, TYP

1/2" BASE PLATE

| |
|6 |3
v

—FLOAT CORNER PLATE - PLAN

LOCATE PER FLOAT PLAN)

] T~

11/2"

PIPE HINGE CONNECTION - PLAN

(4 TOTAL REQ'D ON HEADWALK FLOAT H1)

4"¢ X—STRG STEEL PIPE

w/ RUBBER BUSHING.
TS 4x4x 5/16"t PIECE
1/2"x 5" BASE PLATE

1/2°x 4" ANCHOR PLATE
1"¢ A307 BOLT, TYP

3/8"¢ HOLE FOR 5/16"¢ x 3" LONG
LAG BOLT, TYP. FIELD DRILL AND
TREAT TIMBER DECK PER SPECS.

1/4" STEEL DIAMOND PLATE w/

FLAME—SPRAYED TEXTURE PER
SPECIFICATIONS. CUP CRNRS 1/2"
S SHOWN.

1/2"°¢ x 1" LONG HOLE FOR
3/8"@ TRAP STAPLE, TYP
FIELD DRILL AND TREAT
TIMBER DECK PER SPECS.

1/2" ANCHOR PLATE, TYP
1"¢ A307 BOLT, TYP
/ 6x STRINGER
11

T S
\ HOLE FOR 7/8"¢ A307 BOLT, TYP s 2\ 1 o
2 3;42 HINGE ANCHOR ANGLE EA SIDE OF GLULAM e O OT-—-2gs
FLOAT HINGE CONNECTION - ELEV.
PIPE HINGE CONNECTION - ELEVATION
5/16 — ""'
RE N SO = Y4 N h
REV.] _DATE DESCRIPTION DWN.] CKD. | APP. | E oot " ( PETERSBURG, ALASKA
consuirine| s MIDDLE HARBOR RENOVATION
kIncorporated g | P —— —
- = 3 HEADWALK AND MAINWALK 3.15
oesion, _JLD _ cuecxen, CRS FLOAT UNIT DETAILS &
)2

| ) \orawn LD _

approvep, CRS

NTS

J

\_PNaD PROJECT M0 042011.02 | owa. e, 315.0WG

HEET
7 or 45)




TBQA%I;ZPELATLEP — 2% RUBSTRIP . & . 7/8"9 ECONOMY HEAD BOLT w/ M.l WASHER B& . 7/8°0 ECONOMY HEAD BOLT w/ M.l WASHER
. . . Al
1/2" STEEL BASE PLATE, TYP 5/16" END PLATE, TYP POST 6x BULLRAIL. RADIUS EDGES 1/4 POST GXSPBLIIJ::JE-RLA‘E, JOINT CUT
2x NAILER SEAL WELD | 5" UHMW BULLRAIL POST oS 5 l PRIOR TO TREATMENT
5 1/8" GLULAM BEAM G oy Dl 5°¢ UHMW BULLRAIL POST
STRINGER CONN. ANGLE, TYP P : a2
57161 | Sl |
STEEL PIPE BASE
STEEL PIPE HOOP 1 2x6 DECKING " 2x6 DECKING
UHMW PILE HOOP LINER y
END OF [BASE PIPE PERIMETER PLATE BENT INTO o -
ot .y HOOP AND BUTT WELDED T 2x SUB-DECK PLANK 2x SUB-DECK PLANK
== o LINER ANCHOR BOLT, TYP b
1 P T 1 1 EQUALLY SPACE ARGUND i
no Qo I hlo PERIMETER AS SHOWN Ll
k) I I I" Il II | I
"E s H i EE—— =
.
a.
>3 A TYPICAL BULLRAIL - ELEVATION TYPICAL BULLRAIL SPLICE - ELEVATION
= o
j2
- ) JﬁL 3/4” UHMW HOOP LINER. 3/8" BENT PERIMETER PLATE
& = T T f;‘s'l‘gg"zgogg 14}45.’0”0“ 1/2°% S.S. FLATHEAD BOLT w/ 5 1/8" GLULAM END DIAPHRAGM 5 1/8" GLULAM DIAPHRAGM
w2l _ n :O n O: i o : "NYLOCK" NUT & WASHER. CSC 3x4 BILLET KEEPER BLOCK 3x4 BILLET KEEPER BLOCK, TYP
E I R et I 3/8" AS SHOWN. (8 PER HOOP) ~1/2°9 x 6" A307 LAG BOLT w/ ~1/2"¢ A307 BOLT w/ NUT
= 1 = 3"s X-STRG STEEL PIPE e WASHER. PROVIDE 1" DEEP CSC S | AND WASHERS. PROVIDE 1"
L1 i s e O = A a X
. " ! . - ~f~ | .
1/2°x 5" STIFFENER PLATE ) N /) /=, FOR BOLT LOCATION.
6x STRINGER, TYP VoA £ 7, =
1”8 A307 BOLT w/ M.l WASHER, TYP — N G ! RN
’ KD — - sl N / \ P
gl E =
PLATE
PIPE /" 5/16 BILLET KEEPER - ELEVATION BILLET KEEPER - ELEVATION
TYPE 1 TYPE 2
TYPICAL HOOP SECTION (TPe 1) (rPe 2)
TYPICAL PILE HOOP - PLAN
g 20" HOLE FOR 1"¢ A307 BOLT, TYP
/ 1 1/2" STEEL PLATE

3/4" .
6x6 BULLRAIL * e 1~ ._5_.1
. - ! 1"8 FINGER HOLE P
1"® A307 BOLT w/ M.. WASHER, TYP \ UNER ANCHOR BOLT, TYP \‘ | / CTRD ON PLATE

1
1/2" STEEL BASE PLATE 3/4" UHMW POLYETHYLENE HOOP LINER fo . i
6x STRINGER 3/8" PERIMETER PLATE T O = - o
. 5/16 3"6 X-STRG STEEL PIPE HOOP 27
5/i6 1/4"8 HOLE FOR
ANCHOR SCREWS.
S -
i o L e CAL COUNTERWEIGHT PLATE
Y

©
A
‘ | % (LOCATION AND NUMBER OF PLATES PER INDIVIDUAL FLOAT UNIT PLANS)
& g S N et AN, W WA === __o__d__ D J
i O==0% ®
[aa] = B
edf | = e o= ELECTRICAL ACCESS PLATE
” S \\B = NOTE: PLATE SHALL BE 1/4" ALUMINUM DIAMOND PLATE
o T ST . w/ FLAME—-SPRAYED TEXTURE PER SPECIFICATIONS.
J= -3 . CLIP CORNER 1/4” AS SHOWN. LOCATE PER FLOAT PLAN.
ROV 1/2" STIFFENER PLATE
- RN
~ ' e
SRR 575 T To PPE
=N 4" STD. STEEL PIPE BASE
-0 2x8 NAILER
MRS STRINGER CONNECTION ANGLE, TYP
e 5 1/8" GLULAM BEAM
(A SECTION
FREC N S 1o =S Y4 o ARSI TYY4 N
3220 Hospital Drive Ste 200 ~ \
REV.] DATE DESCRIPTION DOWN.| CKD. | APP. I m Juncu, Alacka 99801 S OF 4 4}0:, PETERSBURG, ALASKA
CONSULTING | b o a0 N\ MIDDLE HARBOR RENOVATION
ENGINEERS
Fax: 907-586-2099 /
\I nco rpo rate d www.pnd-anc.com pov— N
; —= R &2 ( HEADWALK AND MAINWALK 3.16
oesiam _JLO  cumoxen, CRS NTS J ¥ veecd FLOAT UNIT DETAILS -
) ) \oraww _JLD__  apraoven. CRS \oate,__4/8/05 __/ \ pwap prosect w0 042011.02 [ owa e, 316.0WG ) \2B OF 45




¢
. SYMM ABOUT
2-0 8

END OF HANGER

6x6 STRINGER, TYP

BOLT, TYP (4 TOTAL)

HOLE FOR 3/4°@ NAILER CONNECTION BOLT, TYP

™ HOLE FOR 7/8"¢ STRINGER CONNECTION BOLT, TYP
3/4"6 ECONOMY HEAD DRUM CONNECTION BOLT w/
M.. WASHER AND SPLIT LOCK WASHER, TYP (10 TOTAL)

NOTE: COUNTERWEIGHTS MAY BE REQUIRED.
SEE END BALLAST FLOAT FRAMING PLAN.

3/4"9 ECONOMY HEAD HANGER CONNECTION

4x BALLAST HANGER, TYP
POLYETHYLENE BALLAST DRUM

.ol
|
=)

]

SYMM ?—ABOUT

END OF HANGER

2-8 1/2"

TYPICAL END BALLAST FLOAT SECTION

5.125"x 19.5" GLULAM BEAM, TYP

\1” CHAMFER, TYP

HOLE FOR 3/4"¢ NAILER CONNECTION BOLT, TYP
HOLE FOR 7/8"¢ STRINGER CONNECTION BOLT, TYP

6x6 STRINGER, TYP

3/4"® ECONOMY HEAD HANGER CONNECTION
BOLT, TYP (6 TOTAL)

4x BALLAST HANGER, TYP

3/4"8 ECONOMY HEAD DRUM CONNECTION BOLT w/
M.. WASHER AND SPLIT LOCK WASHER, TYP (20 TOTAL)

POLYETHYLENE BALLAST DRUM, TYP
(2 DRUMS BACK- TO-BACK)

— — — iy
- . -
L) 6x STRINGER
SAW CUT NOTCH FOR ELECTRICAL CABLE TRAY
EA. END OF DRUM. RADIUS CORNERS 1° AS SHOWN.
3/4"¢ ECONOMY HEAD HANGER CONNECTION BOLT
w/ M. WASHER, NUT AND 1/8"¢ S.S. COTTER PIN.
¢ PROVIDE 1/2" DEEP CSC AS SHOWN, TYP
TYPE 1 BALLAST DRUM POD - PLAN TYPE 2 BALLAST DRUM POD - PLAN S 4x4 BALLAST HANGER, TYP
— 3/4"¢ ECONOMY HEAD DRUM CONNECTION BOLT
2x DECKING. ATTACH TO SUB-DECK w/ ¢ SYMM ABOUT
8 GA. 16d HOT-DIP GALV. SPIRAL SHANK BOLT %/ M. WASHER AND SPUT LOCK WASHER, TYP
NAILS AS SHOWN IN PLAN. PREDRILL TIMBERS HANGER HOLE FOR 7/8"8 STRINGER CONNECTION BOLT, TYP
AS REQ'D PER A.LT.C. TO PREVENT SPLITTING. 13/4" | 12 HOLE FOR 3/4"8 NAILER
nér 4x4 BALLAST DRUM HANGER, TYP v | ' CONNECTION BOLT, TYP
o SYMM ABOUT 6x STRINGER R VL |
% 2g 2x8 SUB-DECK, TYP. SPACE AS SHOWN TYP
2 . 6x6 TIMBER BULLRAIL. RADIUS 3
° 4x 18 FIBERGLASS CABLE TRAY. SEE CRNRS 1/4" AS SHOWN, TYP o ] [
o S Eczi' ?ﬁ P!()JL:JETH:ILENE BALLA::. 5" UHMW BULLRAIL POST, TYP T i s —F— -
X e o e I Ey s I 1 i
3 DRUM w / DRAIN HOLES EA. END 2x12 RUBSTRIP, TYP % =——crp! i et S ! ——
OF DRUM, TYP —Lg L ] ) 1
¥ ) B2 -— / J A<
M e | 28 TMBER NAILER, TYP 2% ., |
100, ‘i » 4 S . 1 1/2"¢ DRILLED HOLE EA. END OF DRUM, TYP
V%: %HE\I)S[ — e =T . - z 24"x 24"x 0.375"t POLYETHYLENE BALLAST ORUM.
= s _&_13 @ = o SEE SPECIFICATIONS FOR REQUIREMENTS
=T oI, b o o L ) IE o~
L g— J mt:, -~ LI d b 8
[ /s VNN T T b I<—>|
122 o I s — AL
™ 1— \(_\ A —] 3/4"9 ECONOMY HEAD NAILER L | |
1 “-POLYSTYRENE BILLET~ " — CONNECTION BOLT w/ M.I. WASHER. . -4 O O
R ‘)_ Y — CSC HEAD FLUSH AS SHOWN, TYP ~
A T I — STRINGER CONNECTION ANGLE, TYP f
SRS RN I CHAMFER BILLETS AS REQ'D 10
lem, 5 \ B o CLEAR ANGLE AND BOLTS.

il B B [ 3220 Hospital Drive Ste 200 ( )
REV.| DATE DESCRIPTION DWN.] CKD. | APP. ’ E Junca, Ataska 99801 PETERSBURG, ALASKA
CONSULTING [ ppo oo oo MIDDLE HARBOR RENOVATION

I d ENGINEERS Fax: 907-586-2099 k J
U nCOfp OratC www.pnd-anc.com (” SHEET TMLE A

P e MAINWALK END BALLAST 3.17

pesiam _JLD _ cuecken, CRS NTS J FLOAT DETAILS T

)/ \orawn. _JLD__  approveny CRS \ PHaD PROJECT %0, 042011.02 | owa. FLE.  317.0WG ) \29 oF 45)




TO PIPE, TYB/'5/16
1/2" STEEL BASE PLATE, TYP
2x NAILER
5 1/8" GLULAM BEAM

STRINGER CONN. ANGLE, TYP

END OF [BASE PIPE

2x TIMBER RUBSTRIP
5/16" END PLATE, TYP

STEEL PIPE BASE
STEEL

6x6 BULLRAIL

1"¢ A307 BOLT w/ M.l WASHER, TYP

1/2" STEEL BASE PLATE

6x STRINGER —\
A\

\

1/2"x 5" STIFFENER
6x STRINGER, TYP

\
V|

e

é@\i \_2¢8 NAILER

1/2" STIFFENER PLATE
5/16 STIFF TO PIPE
4"¢ STD. STEEL PIPE BASE

STRINGER CONNECTION ANGLE, TYP
5 1/8" GLULAM BEAM

(A _ SECTION

PIPE HOOP

UHMW PILE HOOP LINER

PERIMETER PLATE BENT INTO
HOOP AND BUTT WELDED

LINER ANCHOR BOLT, TYP
EQUALLY SPACE ARQUND
PERIMETER AS SHOWN

PLATE

1"¢ A307 BOLT w/ M.I. WASHER, TYP

LINER ANCHOR BOLT, TYP
3/4" UHMW POLYETHYLENE HOOP UNER
3/8" PERIMETER PLATE
3¢ X-STRG STEEL PIPE HOOP

PIANO HINGE CHANNEL w/ PIPE SEGM'TS

1" A307 BOLT, TYP
6x STRINGER, TYP

m— 2T =E B S S R = I I = /
T | o — o T o ﬁ‘
—-—M=-=—{ 1 g | —
__|® O O
@;‘% N ———————————
o~ .9 @ @
—-—MH==z
L —g-—-ip 1) Gt |

1L

4-FT FNGER FLOAT PIANO HINGE- PLAN

NOTE: DETAILS NOT SHOWN SIMILAR TO TYPICAL 4—FT FINGER FLOAT PIANO HINGE.

2x NAILER

5 1/8" GLULAM BEAM, TYP

2x SUB-DECK PLANK

7/8"¢ A307 BOLT, TYP

5 1/8" GLULAM BEAM

3 1/2°x 5"x 1/2"t HINGE
ANCHOR ANGLE, TYP
2x STRINGER, TYP

—

4x8 HINGE BASE ANGLE

4.250"0.0. x 0.938"..D. x 0.188"t
UHMW PLATE WASHER BTWN PIPE

SEGMENTS, TYP

7/8°8 x 1'-10" LONG S.S. HINGE CONNECTION

BOLT w/ PLATE WASHER, TYP EA. SIDE OF HINGE.

1/4"t END PLATE w/

CTR'D 1”@ HOLE

FLOAT HINGE CONNECTION - PLAN

4"¢ X-STRG STEEL PIPE
w/ RUBBER BUSHING, TYP

NOTE: DETAILS NOT SHOWN SIMILAR TO TYPICAL FLOAT HINGE CONNECTION.

/ZX NAILER
1/2" HINGE ANCHOR PLATE, TYP

\ 3/4"t GUSSET PLATE, TYP
1/2" STIFFENER PLATE, TYP

MRENVISICONN S

REV.| DATE

DESCRIPTION

DWN.

CKD.

APP.

BN D

CONSULTING
ENGINEERS

3220 Hospital Drive Ste 200
Juneau, Alaska 99801

Phone: 907-586-2093

Fax: 907-386-2099
Incorporated w:vx\v.pnd:—'anc.com ) .. e 3 18\
i P MAINWALK END BALLAST .
oesiom. _JLD emecxen, CRS. [*°M | o FLOAT DETAILS
NTS LLITRSCS S SHEET
orawn _JLD approven, CRS J \oate.__4/8/05 /) \ puap prosct #0.042011.02 | owa. mE, 318.0WG ) \30 or 45

AY4 Wy, N
S OF 4

h
J
Anh,
",
o,

.

PETERSBURG, ALASKA
MIDDLE HARBOR RENOVATION J




STEEL COUNTERWEIGHT PLATES (4 TOTAL)
SEE MAINWALK FLOAT DETAILS.

RUBSTRIP CONNECTION BOLT, TYP

CORNER BUMPER, TYP
(SEE SPECIFICATIONS)

3x END RUBSTRIP

26'-0" 0.0. GLULAM

¢
FLOAT
BOLT

¢
BOLT

DIAPHRAGM CONNECTION ANGLE. CHAMFER BILLETS

AS REQ'D TO CLEAR ANGLE AND BOLTS, TYP
RUBSTRIP CONNECTION BOLT, TYP

NOTE: GLULAM DIAPHRAGM AND BEAM DEPTHS INDICATED
ON THE DRAWINGS ARE THE MINIMUM DEPTH REQD.
CONTRACTOR MAY CHOQOSE TO EXTEND ALL GLULAM
DEPTHS TO BE AT OR BELOW THE REQD BILLET

2x SUB-DECK PLANK. ATTACH SUB-DECK TO EA. STRINGER
w/ (2)-8 GA. 30d HOT-DIP GALV. SPIRAL SHANK NAILS, TYP

PREDRILL TIMBERS AS REQ'D PER A.LT.C.

4 x 26' ANGER FLOAT - PLAN

12" STEEL CLEAT, TYP (6 TOTAL)

DECK TO SUB—DECK NAIL PATTERN, TYP

(36 TOTAL ON MAINWALK 1 FLOAT)

A ¢ 3x SIDE RUBSTRIP, TYP ¢ =
DIAPHRAGM g0 DIAPHRAGH 3x BILET KEEPER BLOCK, TYP DIAPHRAGM ¢ N
¢ | T v T | 3 1/8" GLULAM DIAPHRAGM, TYP ’ STR'TGER , ST G (Lo
GER SRINGER STRINGER STRINGER | 31/8" GLULAM BEAM, TYP | fa—1=10 :
2'-6" | | 4'-0" l 2'-0" \ 4x STRINGER, TYP 1 =
: ’ ! ! | ’ | il
| | | Tl
ld T bl T bl hld T GF AN ARV Ll _J] °
ol ol o e M A o TR R o O N O N o N o ol o o o [ille
™ T T - = T -2 T = ~ ~ ~ "

El@_/—\; \;f'ﬂ::: \U-d = 5/7/ _V/\_ =gp -~ L s _/\ _ _"—E’_ﬂ::- -~ \\;3\?_ vﬂ £ 5@' :::fiv ‘U‘d = PV o |P-1| :

- e A Y Ly Lpna! DAY B AN 1%t
K INRYY & N /=t . ~-n ~ta T ) ~henT m i O R
S o&S > N N [ SR e
__l\-/ 1 J \-/ll/ tJ\ /\l_ t \//\l, _ll\//\l, _ll\/’\ \l _ll\/’{.j hi. _+a
b [ PR T N RN Lo of i
° : : : 4 \ o ollo o ':'Il :
R LN FAEAEE B NESR A LN T - vV ~h Lo ilig
S .l o L B RS SN AN B NI PR N i b G:LI e
L~ 2 5 PR Il PN INE NS e L H 4 s
\[l_/\:_\ /\_ \\\\[‘_ ’//I\_ 1/\/[\1/\1,:\ /\_/ II\J/_\[///’ ) ) =|::
Nrv i BN e < 2 S0« = N = YA S T = N ik
B P R O I PR R NN A T A s s . X L i
-ty Oy oh iy A, A A S -ql o
Plfe
CLEAT BASE ANGLE, e/ Hile
e
o
o

FINGER/MAINWALK FLOAT PIANO HINGE WELDMENT
3x RUBSTRIP PIECE, TYP

HI&GE
AT ' MAINWALK FLOAT

3x12 END RUBSTRIP

DEPTH SHOWN TO ENSURE BILLET PROTECTION ¢ FINGER FLO
DURING HANDLING OPERATIONS. o 4x6 STRINGER. TYP FLOAT
= 2'—4" X , DIAPHRAGM 12" STEEL CLEAT, TYP (6 TOTAL) ¢ =
CORNER BUMPER 3 STRINGER CONNECTION ANGLE, TYP ¢ CLEAT BASE ANGLE, TYP CLEAT 3
3 \ ’ 3 STEEL PIPE PIANO HINGE
RUBSTRIP CONNECTION BOLT, TYP STRINGER "T =l
ud- o &y 2x6 DECK PLANK, TYP ” g RUBSTRIP CONNECTION BOLT, TYP &t y_g @
s o | 70" | | 2x SUB-DECK PLANK BOLT , v VP 3 1/8"x 22.5” GLULAM DIAPHRAGM ; 5—g" e i
[77) T ¥ ’_——] I
Q ' ' '\ TYP l ! &
b [=]
| | & .
o] = e =
2Rl DRI TR~ I8 B e 00 (A R
Z SSANISANRGEENS: = NSNS E o od3
=) “L-, \\ \I ¢ . I-\ -, \:’ |?E \;'\l \:-, \\ \I \:-: \: \I \:-: \\: \I \:-, N — 7 'o(E o : ::E
:;ﬁ“‘/ L\I AR A | ] \\/\l_\l A N A N R S SN /I I: —1 ,r I—}

2x8 SUB-DECK PLANK

4x STRINGER

-

\

BILLET KEEPER BLOCK—)

CONNECTION (TYPE 1)

LA

BILLET KEEPER BLOCK CONNECTION (TYPE 2)

POLYSTYRENE BILLET. CHAMFER
EDGES 1 AS SHOWN, TYP

7/8"¢ STRI

STRINGER

//_

2x DECK PLANK

NGER CONNECTION BOLT, TYP
CONNECTION ANGLE, TYP

EDGES 1/2" AS SHOWN, TYP

3x12 RUBSTRIP, CHAMFER EXT.
7/8"¢ STRINGER CONNECTION BOLT.
CSC TO BE FLUSH w/ BEAM AS SHOWN, TYP
3.1257x 19.5" GLULAM BEAM, TYP

3x4 BILLET KEEPER

/L

BLOCK, ij

3 1/8" GLULAM BEAM# /
END DIAPHRAGM CONN. ANGLE, TYP

3 1/8"x 13.5" GLULAM DIAPHRAGM, TYP . "
DIAPHRAGM CONNECTION ANGLE, TYP 3 1/8"x 27" GLULAM END DIAPHRAGM, TYP

/

4’ x 26' AINGER FLOAT - ELEVATION

NOTE: NOT ALL FLOTATION BILLETS SHOWN FOR CLARITY.

2x6 LEDGER BLOCK FULL WIDTH OF SUB-DECK
PLANK, TYP. ATTACH TO STRINGER w/ (4)-8 GA.
30d HOT-DIP GALV. SPIRAL SHANK NAILS. PREDRILL

TIMBERS AS REQD PER A.LT.C.
4x6 STRINGER

/ZX SUB-DECK PLANK, TYP

31/2 x5 x 1/2% ¢
CLEAT BASE ANGLE FLOAT
2 SYMM.ABOUT
I 12"
' TP

2x DECKING. ATTACH TO SUB-DECK w/ 9 GA. 16d HOT-DIP
GALV. SPIRAL SHANK NAILS AS SHOWN IN PLAN. PREDRILL
PLANKS AS REQ'D PER ALT.C. TO PREVENT SPLITTING.
3x BILLET KEEPER BLOCK
3 1/8" GLULAM DIAPHRAGM (DEPTH VARIES)
12" STEEL CLEAT, TYP
DIAPHRAGM CONNECTION ANGLE, TYP
3x12 RUBSTRIP, TYP
5/8"¢ ECONOMY HEAD RUBSTRIP CONNECTION BOLT
w/ M.. WASHER. PROVIDE 3/4" DEEP CSC, TYP

¢

VA4

T V4 f 4
— == — . ]
NEeE——————— 0] 3 _\L __\ }
., | @5%__—:—%}) 4 :%—’/‘{ r f— - ™
I A L B =t .;l'—
Lt} DL N Al SN R S N q ol g
2 w _,\l\/\l,\l\/l,\[‘/lf\[_— N { e}
Lol 1. =~ . ~/ \\‘ ~s \\‘ R \ o~
e I = S Co O = X MR 8 -
/.~ “POLYST ~ L " ' i v Of==
Fy o Sresmesusty ] Y o - -
NIVINGE < :_l_/\_/ \'l-/\_: -
NN PES AN SN SUB-DECK SPLICE / 7/8"8 ECONOMY HEAD DIAPH. CONN.
BM OF BILET "~ /= Y~y 2= e 7= L) NOTE: MAXIMUM OF (1) SPLICE PER SUB—DECK PLANK. J ?,‘}LEEESCFZ‘C’E ?\ngHB%ETF}PUSH
STAGGER ADJACENT SPUCES MINIMUM OF 4—FT. ‘
TYPICAL SECTION
REVISI I ONS A L AV T e
220 H tal D 200 N3 ]
REV.[ DATE DESCRIPTION DWN.| CKD. | APP. E m im,ul",’\',’;m;;'&sm S 0F 4 4:\00, PETERSBURG, ALASKA
CONSULTING o 7 -%, MIDDLE HARBOR RENOVATION
Phone: 907-586-2093
I d ENGINEERS | b 007.586-200 - J
nCOI'pOI'atC www.pnd-anc.com B o Sl ~
J AN £Z | ( sweerTMES 3.20
8CALE: N & 4-FT x 26-FT FINGER FLOAT UNIT .
Enm _JLD _ cueckep, CRS NTS 'I.I‘““\\ss .
y JLD  approven CRS ) \oate__4/8/05 ) \ pma prosecT no. 042011.02 | pwe. rme.  320.0WG ) \82 oF 45




. PIANO HINGE CHANNEL w/ PIPE SEGMENTS
1/2" BACKING PLATE, TYP 3 1/8" GLULAM BEAM, TYP 2x8 SUB-DECK PLANK
. 4x STRINGER 5/8"9 ECONOMY HEAD RUBSTRIP CONNECTION ¢ 2x DECKING
7/8°¢ ECONOMY HEAD DIAPH. CONN. BOLT, TYP BOLT w/ M.I. WASHER, TYP HINCE 8x8 END DIAPHRAGM CONNECTION ANGLE, TYP
8x8x 1/2( END DIAPHRAGM CONN. ANGLE, TYP: 3x SIDE RUBSTRIP, TYP , . SYMM ABOUT 1/2'X 6" BACKING PLATE, TYP
1°9 ECONOMY HEAD HINGE CONN. BOLT, TYP ST 31172 5/16" TOP PLATE, TYP
1/2" STIFFENER PLATE, TYP o = " ey OP PLATE TO
3 1/8" GLULAM END DIAPHRAGM #'"_ & Z 3 TYP LL PLATES, TYP
3x BILLET KEEPER BLOCK el . I 2 6 61/2° 61/8
5/16" FRAMING PLATE, TYP 5 | 3x12 RUBSTRIP PIECE. CHAMFER
NT 1/2" HINGE BASE PLATE, TYP o 8 (S v | TYP E/XT EDGES 1/2" AS SHOWN, TYP
BASE PLATE T | . 1"8 A307 BOLT. TYP [ w 5/8"9 ECONOMY HEAD RUBSTRIP.
E= =3 : CONNECTION BOLT. PROVIDE 3/4
CHANNEL, TYP ! E-::\ )FS | 5/16 0P PLATE, TYP | 8 a /| OEEP CSC, TYP /
TYP FRAMIN i i 5/8"9 ECONOMY HEAD RUBSTRIP — 1 11 A R— L VA LL
PLATES 60° i \ \ \ \ \\ \ i CONNECTION BOLT, TYP , r‘r====.':=|'iﬁ Th n W] w T
- b ﬁ@' % _ A 3x RUBSTRIP PIECE, TYP - it . . E=TM "
. g1 r =4 5 1l vt 2 * fE=300 (uﬁ
':\, (3 _ | | ] l‘* [ i L ; | ____/'I
&r=-3a -1 PIANO HINGE CHANNEL w/ PIPE SEGM'TS = %f_ o / H 7 o ocri=2
PIANO HINGE CONNECTION ROD ~ il A ™ T =3
L AN @Fj%} 'E::*gj == 1130/ fO R o ME o odl=s o
- N - =3 g STEEL PIPE SEGMENT w/ 1 I pep— H g 5/16"x 6" FRAMING PLATES, TYP
. f}: 48 N = < STIFFENER PLATE, TYP = W{}LO H Cl> Cl”i;——- 1"¢ A307 BOLT, TYP
3 T i~ F— /] _______] I 1/2"x 6" HINGE BASE PLATE, TYP
= 4 }
= W ol ng ‘ﬁ‘%% m 5 A ; \,L, = : N = A 7 . 5 1/a 7/8"¢ ECONOMY HEAD DIAPH. CONN. BOLT.
& : | u ' - _ CSC TOP BOLT ONLY TO BE FLUSH
B f T __jx Hoa o | LoXg = . 1"0 ECONOMY HEAD HINGE CONN. BOLT, TYP ' 3/a0 SR PACERG S T "/
& P ——— = - __“'_ﬁﬁT__“'_‘;? bt skl et sk BILLET KEEPER BLOCK ~/ A 3.125"x 19.5° GLULAM BEAM, TYP
] D I AN In ¥ I R = q - g “7 '
5 I | T e e T T e e PPy ]
5 1/8" GLULAM BEAM
% 4————1 o o 4 . A\ SECTION
g i [ ° | | ° | 1/2" HINGE ANCHOR PLATE, TYP 3 1/8" GLULAM END DIAPHRAGM - =4
% T— — I ===H i bt ¢
4"¢ X=STRG STEEL PIPE SEGMENT. WELD SEGMENTS ALTERNATELY
W BETWEEN CHANNELS (I.E. PIANO HINGE ALONG LENGTH OF CHANNEL). 3 1/8" GLULAM END DIAPHRAGM
2 @ @ PIPE T ¢ PROVIDE RUBBER BUSHING INSIDE EACH SEGMENT. FIELD CONNECT (DEPTH VARIES)
: PIANO HINGE w/ 7/8"¢ S.S. CONNECTION ROD. TIGHTEN NUT
o — CARELTTON\ B S TorT o/ 172 x & A%0T LG 8OLT /
qt——— 1 . . VERIFY DIMENSION REQ'D FOR TOP OF PIPE TO BE FLUSH 77T AS SHOWN. SEE FLOAT SECTION
; =— w/ TOP OF CHANNEL, AND WELDED AS SHOWN. 77" | AT OPH. FOR BOLT LOCATION.
* . ** *
N ( :) B ( ) 1°9 A307 BOLT, TYP g 458\ "3 1/2 C8x18.75 CHANNEL w/ NON-SKID COATING ON TOP LEG, TYP LM BEAM
STIFF TO PIPE 6x STRINGER, TYP . G.0. PLATE ' 1/2°x 4" HINGE ANCHOR PLATE
J[ 5/16 CHANNEL, TYP J[ W 112 | 5 5 | =
—-—f{zIcP U b g NG a3
i i ANCHOR PLATE TO P ~ Zl3
5, ! HANNEL, TYP | ; i ; wjo
e | | B o i 5 e —— .N“%
= 5’6" ~ T [
! 1 f o o) o) / B s =T -85
e 1 __mrj_ Y ! = e} o I'l of=——J—uZ
- % O O O] - — = _;—_f =2 BILLET KEEPER - ELEVATION
4-FT FINGER FLOAT PIANO HINGE- PLAN w /_/_ %’ = //\ o - (TYPE 1)
**NOTE: STEEL FABRICATOR TO COORD. w/ FLOAT FABRICATOR FOR CLEAR DISTANCE BTWN. ANCHOR RS 1 o O ] 11 2 S
AND BASE PLATES TO ALLOW FOR SWELLING OF TIMBERS DUE TO TREATMENT. - Vi | L TN s 3 1/8" GLULAM DIAPHRAGM
Vi o O AR | ’/\ \// (DEPTH VARIES)
// // o C}tt- — o = 3x4 BILLET KEEPER BLOCK, TYP
) . . [~ L T - 1/2"% A307 BOLT w/ NUT
4.25"0.D. x 1.00"LD. x 0.188"t 7 7 R r
UHMW PLATE WASHER BTWN FIRST ] ] N P - / DEEP CS6 Ae SHOMN SEE
TWO OUTSIDE PIPE SEGMENTS AT 1/2" BACKING PLATE — =N e I/ ™ // | FLOAT SECTION AT DIAPH
EACH END. (2 TOTAL PER ROD) ] SRS N | A B S AN et
425700, x 1.00°LD. x 0.50"t 8x8 END DIAPHRAGM CONNECTION ANGLE | AN —| 7/ /- .
UHMW PLATE WASHER EA. END. 7/8"% ECONOMY HEAD DIAPHRAGM CONNECTION — L GLULAM BEAM
(2 TOTAL PER ROD) BOLT, TYP. CSC TOP BOLT TO BE FLUSH w/ GLULAM. 1/2"x 2" STIFFENER PLATE, TYP I AV
S.S. "NYLOCK" NUT w / /-
S.S. WASHER EACH EN/D , 6'-7" 0.0. ROD . 31/8" GLULAM END DIAPHRAGM 1"9 ECONOMY HEAD HINGE CONNECTION BOLT L/
(2 TOTAL PER ROD) \ S :\\
\ 1/\ [
/‘1L % ‘ END SECTION =
0.875"¢ S.S. ROD. 2" OF EACH 4-FT FINGER FLOAT PIANO HINGE CONNECTION ROD - BILLET KEEPER - ELEVATION
END SHALL BE THREADED FOR == (TYPE 2)
NUT AND DRILLED FOR
0.125"9 S.5. COTTER PIN.
REVISI ON = B o A YA T Y
3220 Hospital Drive Ste 200 ) ]
REV.] DATE DESCRIPTION DWN.] CKD. | APP. m Jmm'o’s&m;;&m ::s\“ OF 4, 4:\1," PETERSBURG, ALASKA
CONSULTING [ pypo o oo Y MIDDLE HARBOR RENOVATION
ENGINEERS Fax'9(;7-586-2099 k
Incorporated Pt
P < = 3.22
£
o RS |PoAE: N "?ffw:s FINGER FLOAT UNIT DETAILS .
pesiam JLD  cuEcxen CRS NTS N SHEFT
| ) \orawm _JLD _  approveD. CRS ) \oare.__4/8/05 \_PNAD PROJECT N0. 042011.02 | owa. e 322.0WG )34 0r 45




UGHT POLE BASE PLATE w/ BOLT
HOLES AND CTR'D 28 ACCESS HOLE

3/4" A325 BOLT, TYP. TACK WELD

TOP OF DECK

(8

——

2x BLOCKING AS REQ'D

3/4" BIM BASE PLATE
31/2x5x1/2"
BASE ANGLE, 14P

1"9 A307 BOLT
5 1/8" GLULAM BEAM

8%t e

LIGHT POLE BASE - ELEVATION

4x4 TUBE BASE
2"¢ TUBE ACCESS HOLE THRU SIDE
2x DECKING. CUT DECKING TO
BASE PLATE AS SHOWN.
TOP_OF BASE PLATE

LIGHT POLE w/ BASE PLATE (SEE ELECTRICAL)

BOLT HEAD TO TOP BASE PLATE, TYP

3/4” TOP BASE PLATE w/ MATCHING BOLT HOLE
PATTERN AND ACCESS HOLE. (FLUSH w/ TOP OF DECK)

CLEAR

2 \

" /A SECTION

1/4

B,

4"

EDGE OF PLATE

LIGHT POLE BASE PLATE. SIZE PER
UGHT POLE MANUF. RECOMM'D'S
| MATCH BOLT HOLE PATTERN AND
] ACCESS HOLE LOCATION FOR FLOAT
| TOP BASE PLATE. (SEE ELEVATION)
. l 7/8°@ ANCHOR BOLT HOLE, TYP
|
d) 1
|

4x4 TUBE LIGHT POLE
(SEE ELECTRICAL)

279 HOLE THRU BASE PLATE

5 1/8" GLULAM BEAM
4x4 x 5/16"t STEEL TUBE 5

I
T NTTT 2"¢ ACCESS HOLE THRU SIDE OF ~
TUBE (FACING INSIDE OF FLOAT)
| 1°¢ A307 BOLT, TYP
/ 3/4" BOTTOM BASE PLATE

= 7 7 — T/
T

1/4" END PLATE (SEAL WELD)
4x4 STEEL TUBE

ELECTRICAL METER BOX, TYP
(SEE ELECTRICAL)

3/4" TOP PLATE
/4" COVER PLATE w/
1/8"t NEOPRENE GASKET

1/4" END PLATE (SEAL WELD)
4x4 STEEL TUBE

ELECTRICAL METER BOX
(SEE ELECTRICAL)

o= ————
|
L

3/4" TOP PLATE

6x12 STEEL TUBE

T /' T BASE ANGLE, TYP — AP 3
NOTE: SEE FLOAT PLANS FOR LOCATION. ADJUST LOCATION AS REQUIRED YT t ,ZL N
0 CLEAR STRINGER LOCATIONS INDICATED ON FLOAT FRAMING PLANS. SHHHRH H
H 4"9 x 0'-8" ACCESS HOLE 3/4" BASE PLATE, TYP
|
|
! 3/4" A325 BOLT, TYP
; 8 o[ H 7 a BASE ANGLE, TYP
TSI 11 +—+7 2 ' I 2x BLOCKING AS REQD
7 | Iy 1/2"9 DRAIN HOLE
§ § wfe L] |
STRINGER 30" STRINGER & ¥ !
| I g B e |
| PLATE | r =M (L 2] H
1 5" 7/8° BOLT HOLE, TYP ' . 1 \[ ==
TYP J % e e
1 ASE P W | = o
0 11/2° I /42 88 TSEEEL LT‘:JT: = E - B J / NS =N
SE T ) 8 S £ - (8 _SECTION C
- | \_- / - 7 o o o 7 NIRCUEN B
U 4. \': MECSIPEN I
| 4x6 STRINGER, TYP PRSP
_—— T . - I:\ 7 \I — ll\ /]
r < o Id g 7/8% ECONOMY 1/2" BASE PLATE NS
-t HEAD BOLT, TYP 4x8 x 5/16"t STEEL TUBE e NN
3/4"% A325 BOLT w/ WASHER. TACK WELD OS]
3 BOLT HEAD TO BASE PLATE, TYP o
e e B Y g PT}_JATEE 2x DECK PLANK, TYP
© | © PLATE 5 | REQUIRED 10 SUPPORT DECKIG
| PEDE - ELEVATION
< 08 /5716 LT 7/8" ECONOMY HEAD BOLT, TYP STAL BASE - ELEVA
TUBE 11/2] | | ' NOTE: SEE FLOAT PLANS FOR LOCATION. ADJUST LOCATION AS REQUIRED
D 4x4x1 /2 ANGLE, TYP TO CLEAR STRINGER LOCATIONS INDICATED ON FLOAT FRAMING PLANS.
deidl ANGLE TO TUBI | DETAILS NOT SHOWN SIMILAR TO LIGHT POLE BASE.
3 SIDES TYP /5716 I
4x4x1/2 ANGLE, TYP JOP_OF BASE PLATE ] ] .
TOP OF DECK 'u/JZ, oo | ]
SUPPORT POST BASE PLATE - PLAN = ‘L_‘IQ__ ] 4x STRINGER
3 TOTAL ON GANGWAY LANDING FLOAT = —_—— ———
(3 ToTAL O FLOAT) "'SE_‘_ =—— 0 =
7] ——— L =
ANGLE TO TUBE
5/16 3 SIDES TYP
‘ BASE PLATE - SECTION
RE N S| oM S AY4 o RV \( N
3220 H. eal D Ste 200 S ]
REV.] DATE DESCRIPTION DWN.] CKD. | APP. m Jancam, Atka 99801 S OF 4 4\:\0,' PETERSBURG, ALASKA
CONSULTING oo i~ %, MIDDLE HARBOR RENOVATION
Phone: 907-586-2093 = %,
Incorporated | P sorsssam Z
\_ p www.pnd-anc.com J a -, e 3 28\
( SCALE, ) ", > EQUIPMENT SUPPORT DETAILS *
pesian L0 cuecxen, CRS UiedeeceSy e
J \ohawn _JLD _  approven, CRS J \oate___4/8/05 ) \ pwan prosect wo. 042011.02 | owe. Fae, _328.0WG ) \40 or 45




1/4" END PLATE (SEAL WELD)

LUMINARE BASE PLATE. COORDINATE
w/ LUMINARE SUPPUER FOR SIZE,
AND HOLE PATTERN REQ'D. ATTACH
LUMINARE PER MANUF. RECOMM.'S

G BASE PLATE TO TUBE

_o_
==

|
! ELECTRICAL METER BOX, TYP
(SEE ELECTRICAL)

1/4" COVER PLATE w/
1/8"t NEOPRENE GASKET

7

4" x 0'-8" ACCESS HOLE q

BASE ANGLE, TYP ,
1/2"0 DRAIN HOLE— |/

k.

LIGHT POLE LUMINARE (SEE ELECTRICAL)
1/4" END PLATE (SEAL WELD)

/4x4 STEEL TUBE
ELECTRICAL METER BOX

/ (SEE ELECTRICAL)

|

|

|

|

|

/3/4' TOP PLATE
6x12 STEEL TUBE

3/4" BASE PLATE, TYP

3/4"¢ A325 BOLT, TYP

3/4"

B
g |
11/4°
. TYP
~
=

PLATE TO TUBE, TYP

6x12x 5/16"t TUBE PEDESTAL BASE

3/4" BOTTOM PLATE

40 x 0'-8" CTR'D_ACCESS HOLE
THRU BOTTOM PLATE

i
i
o o o )

LIGHT POLE w/ PEDESTAL BASE - ELEVATION

NOTE: SEE FLOAT PLANS FOR LOCATION. ADJUST LOCATION AS REQUIRED

TO CLEAR STRINGER LOCATIONS INDICATED ON FLOAT FRAMING PLANS.

DETAILS NOT SHOWN SIMILAR TO LIGHT POLE BASE.

\—ELECTRICAL DISTRIBUTION BLOCK
MOUNTING BASE PLATE (TYPE 1)
ELECTRICAL DISTRIBUTION BLOCK
MOUNTING BASE PLATE (TYPE 2)

/8 _ SECTION
O/

6" (TYPE 1)
4" (TYPE 2) ‘

1/4" BENT PLATE

) o o Q

ELECTIRCAL MOUNTING BASE PLATE

H('?LE 4x4x 1/4°t TUBE LIGHT POLE
3"¢ HOLE CTR'D THRU TOP PLATE
l 6x12x 5/16"t TUBE PEDESTAL BASE
/ 3/4. TOP PLATE w/
1" RADIUS CORNERS

TUBE TO
PLATE, TYP/ 5/16

f HOLE FOR 3/4"® BOLT, TYP

T PROVIDE TAPPED HOLES AS REQ'D TO MOUNT
| POWER DISTRIBUTION BLOCKS. COORDINATE w

| ELECTRICAL SUPPUER TO MATCH HOLE PATTERN

| OF BLOCKS SUPPLIED. CONTRACTOR SHALL CHASE
| THREADS AS REQ'D DURING FIELD INSTALLATION

| OF ELECTRICAL EQUIPMT. WATERPROOF GREASE

! SHALL BE APPLIED TO ALL CHASED THREADS.

ke 4x4 TUBE LIGHT POLE
l =757 JUBE TO PLATE
|
3" HOLE CTR'D THRU TOP PLATE
_ 3/4" TOP PLATE

1/4" COVER PLATE w/ 2° RADIUS
CORNERS. PROVIDE 1/8"t x 1" WIDE
NEOPRENE PERIMETER GASKET w/

MATCHING HOLE PATTERN.

10"

ELECTRICAL DISTRIBUTION BLOCK
MOUNTING BASE PLATES.

/B

6x12 TUBE PEDESTAL BASE

1'-6"
OPENING

2-6"

g

3/8"@ THREADED STUD w/ WASHER
AND NUT. BUTT WELD STUDS TO
TUBE BASE AS TO ALLOW COVER
PLATE TO BEAR FLUSH AGAINST
TUBE, TYP.

4" x 0'-8" ACCESS HOLE

OPENING

_______"___1'____'__ rﬂ_____r"v"_" -t

;
1
/

3/4°0 A325 BOLT, TYP. TACK WELD
BOLT HEAD TO BASE PLATE, TYP

6x12 TUBE PEDESTAL BASE

f

8 1/2"

O O

1/2°0 DRAIN HOLE, TYP
31/2" x 5" BASE ANGLE
_ / (SEE LIGHT POLE DETAILS)
1

ELECTRICAL PEDESTAL - ELEVATION

FRE NI SIOMN S

DATE

DESCRIPTION

Jncorporated

DWN.] CKD. [ APP. l l E
CONSULTING

ENGINEERS

~
3220 Hospital Drive Ste 200
Juneau, Alaska 99801

Phone: 907-586-2093

-
oesiaw, _JL0_  cumexen, _CRS

| ) \orawm _JLO__  approven. CRS

( PETERSBURG, ALASKA
MIDDLE HARBOR RENOVATION

("~ sHEET TME
EQUIPMENT SUPPORT DETAILS

2
3.29

SHEET
\_PNAD PROJECT N0 042011.02 | owa. Fe.  329.DWG ) \41 or 45




1/4" END PLATE. SEAL
WELD TO POST, TYP

/

UNISTRUT TO
1/4
o
N
" R
-' L]
|~
3
R

2" H.D. STEEL UNISTRUT BTWN POSTS

FIRE EXTINGUISHER CABINET. BOLT TO
EACH UNISTRUT w/ GALV. BOLTS PER
MANUF. RECOMMENDATIONS.

2" TUBE POST
3/8°t BASE PLATE

POST TO PLATE, TYP

1/2% ECONOMY HEAD BOLT, TYP

2x6 BLOCKING BTWN FLOAT STRINGERS.
ATTACH w/ 9 GA. 16d HOT~DIP GALV
SPIRAL SHANK NAILS, (4) PER BLOCK

/ 2x8 SUB-DECL PLANK, TYP

EE==—==1 S
: e —— =
=y i '

E=—10

E==1Bo

E==1)0

LIFE RING/ARE EXTINGUISHER CABINET MOUNT - ELEVATION

&=

12°

|k

o

t
|
U

2

ARE EXTING. BASE - PLAN

(LOCATE PER FLOAT PLAN)

3/8" BASE PLATE

2x2x0.25"t STEEL TUBE POST, TYP

5/8"¢ HOLE, TYP

3/8" BASE PLATE
/ZXZXOZS't STEEL TUBE POST, TYP

/5/a‘¢ HOLE, TYP

¢
TUBE
.
..F_: ,
|
-— 0O o
T “[
w ("
cann 8
e
|
o d|
LIFE RING BASE - PLAN

FRENVISIOMNS

REV.| DATE

DESCRIPTION

DWN.| CKD.

APP.

,
BN D
CONSULTING

ENGINEERS

(

~
3220 Hospital Drive Ste 200
Juneau, Alaska 99801

Phone: 907-586-2093

PETERSBURG, ALASKA

L MIDDLE HARBOR RENOVATION

approven, CRS

In Tt r t Fax: 907-586-2099

\ co po a ed ‘www.pnd-anc.com ) e ~

JLD  cumoxep, CRS [°AE ) EQUIPMENT SUPPORT DETALS 3.30
SMNEET

J \_PNaD PROJECT M0. 042011.02 | owa.ene, 330.0wG ) \42 or 45




TRANSIENT SKIFF FLOAT

/\ / —
/ —— — . N
N —
e
LAUNCH RAMP END
. ey
oy — ABBREVIATIONS
OCEAN BEAUTY WOOD TRESTLE i . N ., R "__’_")‘—‘)
—_—— = A AR (N v — AFF ABOVE FINISHED FLOOR
( ; AFG ABOVE FINISHED GRADE
I : CATV CABLE TELEVISION
| EXISTING UTILTY POLE
- COMM COMMUNICATIONS
ALT — A SEAPLANE FLOAT | —
(SEE SHEETS 7.01 & 7.02) t’s“E'-E“’gHSE”EErDG 2) | — cr CURRENT TRANSFORMER
| AT C I ars | NEW GANGWAY LANDING FLOAT | | DIA DIAMETER
= ,,' L3 o NEW MAINWALK 1 (SEE SHEET 6.12) | |
I I I (SEE SHEETS 6.05, 6.06, 6.08) | — | EA EACH
I I I ] I GFl GROUND FAULT INTERRUPTER
IJ-HWP [I[[F‘[WHH"WI[[— i il i .
‘, . a U LR . . . . . . . . . . . . M : - ( GRS GALVANIZED RIGID STEEL
[ | I | I ] | | I I N
| { N . HDG HOT DIPPED GALVANIZED
=T ! N
MIDDLE I E P~ ) or oo
A RBOR —= : -~ L\ Lc LIGHTING CONTACTOR
H . ~—
NEW HEADWALK FLOAT b | NEW & EXISTING APPRDACH —EXISTING UTIL] | ~ MOP MAIN DISTRIBUTION PANEL
— SERVICE ENTRANCE LDCATION . . 0
(SEE SHEETS 6.04, 6.06, 6.07) | J Q MIN MINIMUM
—_— D e e MTD MOUNTED
b NEW GANGWAY e o
n M N M n M M n M — (SEE SHEET 6.1D) _GAME FLOAT PH PHASE
- PVC POLYVINYL. CHLORIDE
(—
(— 7 T e [ SEE SHEET 6.03 ss STAINLESS STEEL
—) TEL TELEPHONE
TYP TYPICAL
U H —
U U U U U U s 5 UON UNLESS OTHERWISE NOTED
ESS -
NEW MAINWALK 2 - 3 B WP WEATHERPROOF
(SEE SHEETS 6.04, 6.06, 6.09) %
o %; XFMR TRANSFORMER
- LN
Y / POWER
' B h X SHORETIE PEDESTAL WITH DUAL
. 30 AMP 120V, 1 PH RECEPTACLES
, [P POLE MOUNTED LUMINAIRE
00«, (o] HANDHOLE
. o
; © O] JUNCTION BOX
<
(Vv\!\' © CONDULET
<&
& O UTILITY POLE
)
- PANELBOARD
= GROUND ROD
o PeC) PHOTO ELECTRIC CONTROL
SOUTH NDTES:
o]
1. ALL WORK IS BASE BID UNLESS LOCATED IN AN AREA DESIGNATED
! 7/4 RBOR AS AN ALTERNATE DN THIS SHEET.
2. DEMOLITION: REMOVE AND LEGALLY DISPOSE OF ALL EXISTING
ELECTRICAL, COMMUNICATION AND LIGHTING COMPONENTS ON FLOAT
o SYSTEM. EXISTING POWER SYSTEM IS AERIAL WITH APPROXIMATELY
17 LIGHT FIXTURES, 1 PHDNE JACK AND 64 SHORETIE PEDESTALS.
REMOVE AND LEGALLY DISPOSE OF ALL ELECTRICAL AND LIGHTING
COMPONENTS DN THE GANGWAY AND APPROACH INCLUDING SERVICE
ENTRANCE GEAR AT UTIUTY POLE. REFER TO CML DRAWINGS FDR
EXISTING SITE PLAN ARRANGEMENT.
SITE PLAN-NEW 3. SALVAGE: PETERSBURG MUNICIPAL POWER & UGHT (PMP&L) WILL
REMOVE ANY EQUIPMENT TO BE SALVAGED BY THE CITY PRIOR TO
DEMOLITION. CONTRACTOR SHALL COORDINATE THE DEMOLITION
SCHEDULE DIRECTLY WITH PMP&L.
4 FRENV =S OMN = 1 320 Hossin] DeiveSe00 N
OSpi rIve dte
HA'GHT REV.] DATE DESCRIPTION DWN.] CKD. ] APP. JmmA'juh”w, | m PETERSBURG, ALASKA
& ASSOCIATES Phone: B07.556 7503 CONSULTING MIDDLE HARBOR RENOVATION
Fax; 907-586-2009 1 d ENIG TRIEIE S — J
CONSULTING S %o ncorporate - X
ELECTRICAL SHEET TITLE
ENGINEERS s Son |5oAE ELECTRICAL SITE PLAN 6.01
526 Main Street, Juneau, AK 99801 pesian. _MA>  cueckep, S41 SCALE IN FEET ) neET
(907) 586-9788 —
\ | ) \orawm. PEL__  approven, BCH | ¢ 50 100 FT. \_PNAD PROJECT NO. 042011.02| owe. Pre.  46e601.dwg J \EI OF ¥ )




& ASSOCIATES

CONSULTING

ELECTRICAL

Phone: 907-586-2093

ENGINEERS

ENGINEERS

526 Main Street, Juneau, AK 99801

(907) 586-9788

| ) \orawwm PEL__

S=Z. | Incotporated
Ry

AppROVED, BCH.

MIDDLE HARBOR RENOVATION

PANEL H SIZE | VOLTS/PHASE | MAIN [ LOCATION [ Mount
400 AMPs | 120/208v, 3 PH | MLO GANGWAY FLOAT | surrace
C BREAKER KVA BREAKER C
3 K NO 6 TYP O )
_&J DESCRIPTION ;:L’E/ oKkt | A BY o | okt tA’gLPE/ DESCRIPTION ugt ‘\ g&",l(ﬁm NEW UTILITY TRANSFORMER:
150 KVA, 480V,
1 | PEOESTALS 111, 113, 115, 117, 119, 121, 123 175/3 | 14.0 | 14.0 0.0 | -- |SPACE 2 5 JAW _ ] 5w POWERHEAD my ! (BY PMP&L — ON EXISTING POLE)
3)-- 125, 127 -= 14.0 14.0 00| -- |SPACE 4 METER  f 1 | METER
5 |- — [ 140 140 | 00| -- |SPACE 6 / \ ——.
7 | PEOESTALS 110, 112, 114, 116, 118, 120, 122| 175/3 | 14.0 | 27.0 13.0 | 175/3 | PEOESTALS 210, 212, 214, 216, 218, 220, 222] B B T [ ' '
9| - 124, 126 - 14.0 27.0 13.0 - - 10 r
1| - —— | 140 244 | 104 | —- |-—— 12
13| PEOESTALS 129, 131, 133, 135, 137, 139 175/3 | 10.4 | 20.8 10.4 | 175/3 [PEOESTALS 211, 213, 215, 217, 219, 221, 223|14
15] —— —— | 104 23.4 130 —- |- 16 Czoo/s NER SERiEE
17]—— —— | 104 234 | 130 - |- 18 OISCONNECT
19| PEOESTALS 128, 130, 132, 134, 136, 138 175/3 | 10.4 | 15.6 5.2 | 175/3 | PEOESTALS 224, 226, 228, 230 20 NEMA 4X, SS
21 —— — [ 104 18.2 78| —- |- 22 NO. 2
23] —— — | 104 182 78] - |-- 24
b— 4C NO. 4/0, TYPE W
25| PEOESTALS 141, 143, 145, 147 175/3 | 7.8 | 15.6 7.8 | 175/3 | PEOESTALS 225, 227, 229, 231 26 (N 4°C ALONG PIER &
27 —— —— 7.8 13.0 52| -- [-- 28 L v L UNOER GANGWAY)
29| —— — 5.2 130 | 78] - [-- 30 10 —ele 10"
31] PEOESTALS 140, 142, 144, 146 175/3 | 52| 5.2 00| —-- |SPACE 32 o—
33[ - —— 7.8 7.8 0.0 | —— [SPACE 34 ENE " OV cpace
35[ - — 7.8 78 | 00| —— |sPace 36 30/ ) O)SPACE A /1 ) o)s AC
37| SPACE —— 00| 50 50| 70/2 | PANEL F 38
o 0.0 6.3 63| - |-- 40 NEW TRANSFORMER:
39| SPACE 7N () = 150 KVA
41| SPACE -- 0.0 00| 00| -- [SsPacE 42 v - v = rY 7% 480:208,/120V,
BALANCEO CONNECTEO LOAD = 313.7 KVA / 871 AMPS 103.2 [109.7 [100.8 BALANCEO OEMANO LOAD = 106 KVA / 295 AMPS L5-30R A N B L5-30R NEMA 4X, SS
MAXIMUM CONNECTEQ LOAD = 313.7 KVA / 914 AMPS MAXIMUM OEMANO LOAD = 106 KVA / 309 AMPS /
MIOWEST | LSCO POWER — (2) 2 1/27C, 4 NO. 4/0 &
DOCKHANO OISTRIBUTION BLOCKS, 1 No. 2 6NO
POWERHEAD P
STEEL PEOESTAL
c ¢ ENCLOSURE Cwo /3 ﬁ?&'IXBRSEQKER
PANEL F SIZE | VOLTS/PHASE | MAIN | LOCATION | MOUNT v | 2e
100 AMPS | 120/240v, 1 PH__| MLO GANGWAY FLOAT | surFace NOTES:
c BREAKER BREAKER C 1. REFER TO POWER PLANS FOR PHASE CONNECTIONS AT EACH PEOESTAL, A & B .
, 4 NO. 4/0 &
. DESCRIPTION AP/ KVA AMP/ DESCRIPTION K] CONNECTION ILLUSTRATEO. — @2 1726 4 /0
L POLE_| CKT | A | BY | CKT | PoLc NQ, 2. INSTALL NO. 6 CONOUCTOR BETWEEN POWER OISTRIBUTION BLOCKS ANO METER BASES
1 [ FLOAT LIGHTING CONTROLS e 20/1 | 03| o8 0.5 | 20/1 |SHEO Ol 2 - : ’ 121/47C, 3 NO. 4, XL
3 | FLOAT LIGHTING 20/1 | 03 09| 00| 20/1 |sPare 4 1 NO. 8 GNO _\ . PREL H:
5 | FLOAT LIGHTING 20/1 10| 1.2 2.0 | 30/2 | SHEO HEATER 6 400A
7 | GANGWAY LIGHTING 20/1 | 05 25| 20| - |- 8 WIBII!G D!AQRAM - 30A PEQESTAL ﬁg%1igv's"s'PH' aw
9 [ UTILITY SHEO LIGHTING 20/1 01| o1 0.0 | 20/1 |SPARE 10 NO SCALE Y] 22kac
11| SPARE 20/1 | 0.0 0.0 ] 00 20/1 |sPare 12 M
13 | SPARE 20/1 | 00| 29 2.9 | 30/2 |HEADWALK PEOESTAL 14 NO. 2
15 | SPACE - 0.0 29 28| - |- 16 L
17 | SPACE - 00| 00 0.0 | 20/1 |[SPARE 18 NEW METER,/ AN 70/2 N~ SEAWATER ELECTROOE
19 | SPACE — 0.0 0.0 | 0.0][ 20/1 [spare 20 208/120V, 1PH
21| sPace - 0.0 ] 00 0.0 | 20/1 [sPare 22 NEMA 4X, SS v
23| sPace — 0.0 0.0 00| 20/1 |SPARE 24
TOTAL CONNECTEQ LOAD = 11.3 KVA / 52 AMPS 50 | 63 e
1 NO. B GNO
-
v
PANEL F: 1004,
120/240V, 1PH
NEMA 4X, S5
NO SCALE
/ RE v =S O = ) ) A
3220 Hospital Drive Ste 200
HAIGHT [Rev.| oAt DESCRIPTION DWN. CKD. [APP-] | | Juneau, Amska 99601 D PETERSBURG, ALASKA
CONSULTING

SHEET TITLE:

SINGLE LINE & WIRING DIAGRAMS,
PANEL SCHEDULES

_J \oates 4/8/05

{_Pwsp PROJECT 0. 042011.02 | pwa. Fue.  46e602.dwg ) \E2 OF ¥

3
6.02




EXISTING UTILITY POLE
/_ B _ - L R - I e

e s L
T0 UTILTY . — 0
XFMR - - = ,
2-1/2"C, WITH ;
WEATHERHEAD 2 gl_C_S_ R
= e = —_ — =
SS STRUT SUPPORTS. —_—y —— ==
SERVICE SECURE TO UTILITY _ L
ENTRANCE ] POLE. PROVIDE BRACING
DISCONNECT I AS NEEDED.

EARE

N — I E— S | R — 5 |

\—i" GRS, SECURE TO
STRINGER AT 10 FT
INTERVALS MINIMUM

6 1
4 L
‘ ]
1 . SERVICE ENTRANCE
/ DISCONNECT. / —=—
. MOUNT ON STRUT /
JJ\ o ) SECURED 10 |
. N uTLTY POLE x
1
— \ EXISTING UTILITY
——————— POLE (SEE PHOTO)
/\ . | N
A A — | &
YV ©, T CcoNPR .
| i ‘._'....\ |
‘o N
S \ ‘“‘x\\l
_— - = \
| ] : o~
FISH & GAME FLOAT [
2 EXISTING APPROACH e — | W ADT &
| s | A — W3\ ¥
tal J
Bl ST PARTIAL SITE PLAN — UPLANDS
TYPE W CABLE —
EXISTING STRINGER
STAINLESS STEEL:
CABLE GRIP
SECURE TO
STRINGER NOTES:

1. REMOVE AND DISPOSE OF EXISTING SERVICE ENTRANCE EQUIPMENT ON APPROACH.

2. OVERHEAD TRANSFORMER REPLACEMENT BY UTILITY. COOCROINATE WITH PMP&L FOR POWER
OISCONNECT OURING DEMDLITION AND RECONNECT DURING CONSTRUCTION.

ELEVATION AN
NO SCALE U

REM S ONS ) ( 3220 Hospial Dive st 200 oF f
HAIGHT [Rev-] oAt DESCRIPTION DWN.] CKD- [APP_] | | Juncas, Atncka 50801 | m SHE A PETERSBURG, ALASKA
& ASSOCIATES Phone: 9D7-586-2093 CONSULTIN 'W . I MIDDLE HARBOR RENOVATION
CONSULTING pedg e fpig Incorporated .-’J;E;_ ikl -
ELECTRICAL S  owEET TMLE:
ENGINEERS - SoAE “ POWER PLAN & DETAILS
526 Main Street, Juneau, AK 99801 oesam MAS  cucxen, BCH — SCALE IN FEET . APPROACH
(807) 586-9788 | ) \orawm. PEL__ approven. BCH | ¢ 20 40 FT. (PN PROJECT N0 042011.02 | bwe. FRE,  46603.dwg




MATCH A

tl

T

T

HEADWALK

URUITY SHED

| GANGWAY LANDING

FLOAT

FINGER FLOAT (TYP)—\

MATCH B

NO. 2/0

CA BC CA BC
PEDESTAL NO (TYP).——@ Je 0[[ JJ‘ ol @ 5C NO. 2/0 [ @ ¢
1% e fies2as0 ) k m
O mj| (N O cfl o O O
AB L | (J] BC sc (] AB _“; [

MAINWALK 2

NOTES:

1. POWER PEDESTALS SHALL BE LOCATED IN CENTER BETWEEN FINGERS.

SEE CiVIL

ORAWINGS FOR EXACT OIMENSIONS.

2. PEDESTAL CABLE SIZE IS FOR ENTIRE FEEDER, UON.

REY S oMN= ) {3220 Honpind Dive 2= 200 ) )
HAIGHT [Rev.] Dare DESCRIPTION DWN.['CRD. TAPP- | | | Juncan, Anska 59801 D I3 PETERSBURG, ALASKA
& ASSOCIATES Phone: 907-586.2093 CONSULTING MIDDLE HARBOR RENOVATION )
CONSULTING f,:f::ﬁ::ﬁ Incorporated X
ELECTRICAL J SHEET TIMLE
' ENGINEERS [T TR — ™ POWER PLAN 6.04
526 Main Street, Juneau, AK 99801 DESIGN, ... CHECKED — , HEADWALK & MAINWALK 2 SHEET
(907) 586-9768 | ) \orawn avpRovED | O 8 16 FT. ) \oave, 4/8/05 /| puan proseet #0.042011.02 | owa, me.  46e604.dwg J \E4 OF 1)




;Si )

MATCH A

O

HEADWALK

5C NO. 2/0

MATCH B

F
=
-
t

ALTERNATE B

PHASE CONNECTIONS (TYP) ——= AB

0 O O = O Y.
@ Vi © T =

ﬁg/’/ﬂ'.ﬁj\ ‘%, ’oiw
© TV 9 vy

PEOESTAL NO. (TYP) ——
| BC

ALTERNATE C

NOTES:

1. POWER PEOESTALS SHALL BE LOCATEO IN CENTER BETWEEN FINGERS.
ORAWINGS FOR EXACT OIMENSIONS.

SEE CMIL

2. PEOESTAL CABLE SIZE IS FOR ENTIRE FEEOER, UON.

CONSULTING
ELECTRICAL
ENGINEERS

526 Main Street, Juneau, AK 99801
(907) 586-9788

Fax: 907-586-2099

Incorporated

www.pnd-anc.com

R A ) 3220 Hospital Drive Ste 200
HAIGHT [Rev.] DAt DESCRIPTION DWN.] CKD_ [ APP-| | | Juncau, Atnska 59801 PETERSBURG, ALASKA
& ASSOCIATES T MIDDLE HARBOR RENOVATION

SCALE:  SCALE IN FEET

CHECKED: BCH

[
| mnn =

approven, BCH 0 8

pesian, _MAS
orawn, _PEL

AIGH 7 SHEET TITLE: N
POWER PLAN 6.05
MAINWALK 1 sHEET

{_pwan proscT #0.042011.02 | owa. Fae, 46605.dwqg ) \ES OF 1




o

A1 F-3,5 )
GANGWAY LANDING
J FLOAT
5
o [} S0 o - S0 ) ) o e o 3o UTILITY SHED
I3 i P— ]
a1 Al Al Al Al Al Al Al
—_—
Fsy | ==
2
, L L] | | L L] | L L] L L a L] i L a 5
Y]
| ALTERNATE C i ALTERNATE B :
o
4C NO. B TYPE W, TYP
PARTIAL FINGER FLOAT, TYP. COMBINATION LIGHT 2
—\ PDLE/PEDESTAL UNIT (TYP) 2
— — — M — — — F M Al :
\ HEADWALK
LIGHTING CONTROLS MOUNTED
/ ON GANGWAY FLOAT /:l
@ |.ﬂ - -} g (-] 8 [-] i/ (-] Vi ﬂ -] £ 3
lz
| H I {c LIGHTING CONTACTOR 3 5 3 5 \ :
PEC
Fet o~ —
” | | :
F23 1 TYPE Al Y]
o H— e A
F=5 »~— 1} 3 TYPE A1 NOTES:
20/1 W (TrP-9)
1. REFER TO CVIL DRAWINGS FOR EXACT LIGHT POLE LOCATIONS.
(2) INSTALL LIGHT POLE WITHOUT PEDESTAL UNIT AT THIS LOCATION.
F=7 1 [} "PEB
20/1 1 (TYP-4)
||| spare LUMINAIRE SCHEDULE
Nl SPARE TYPE DESCRIPTION MANUFACTURER LAMPS REMARKS
I POLE MOUNTED HID CUTOFF w/ MARINE GRADE DIE—CAST LITHONIA (1) 70W HPS | MOUNTING HEIGHT 12 FT INSTALL
I SPARE A1 [ ALUMINUM HOUSING, TYPE Il DISTRIBUTION REFLECTOR, HEAT AS1 70S SR2 120 SPA CR LPI| 1900K, CRI 22 | ANTI-PERCH STRIP DN LUMINAIRE
TEMPERED GLASS LENS, & POLYCARBONATE VANDAL GUARD. DWH_AS1VG
8.8° DIA SURFACE MOUNTED HID w/ DIE—CAST ALUMINUM RUUD (1) 35W HPS PROVIDE 4 EA, SPACED © 24’ ON
B HOUSING, GASKETED POLYCARBONATE LENS CE1503-1-120-V 1900K, CRI 22 CENTER. SURFACE MOUNT TO GANGWAY
0PY.
4' SURFACE MOUNT HEAVY—DUTY FLUORESCENT INDUSTRIAL, w/ LITHONIA (2) 32w 18
SCHEMAT C FLOAT LlGHTlNG C | CDLD ROLLED STEEL HOUSING, WIRE GUARD, END CAPS, 2 LAMP | AF 232 120 GEB10IS ACEP 3500K, CRI 85
! -— WGAFPY
ND SCALE 12" x 4" SQUARE STEEL POLE, HOT-DIPPED GALVANIZED WITH GARMIRE __ PROVIDE MOUNTING BOLT HOLES PER
POLE | HANDHOLE GSQ412 LITHONIA “SPA" MOUNTING BRACKET.
(" RE ) =1 O = \ (5220 Hosmital Deive See 200 ( N
05p1 ve
HAIGHT [Rev DAk DESCRIPTION DWN. | CKD. [ APP_] | | Juncau, Anska 99601 E PETERSBURG, ALASKA
& ASSOCIATES Phone B07.5H8.555 CONSULTING MIDDLE HARBOR RENOVATION
CONSULTING Fax: 907-586-2099 I ted ENGINEERS|( J
W pad-anc.com ncorpora € s ~
ELECTRICAL BHEET TITLE:
ENGINEERS A oon [soAE LIGHTING PLAN 6.06
526 Main Street, Juneau, AK 99801 vesian MAS  cuecxen, BCH |7 SCALEIN FEET HEADWALK/MAINWALK 1 & 2 eneeT
(907) 586-9788 —y
- orawn: PEL_  approven, BCH | 0 20 40 FT. (_PNaD PROJECT N0 042011.02 | pwe. FRE: 46e606.dwg ) \ES OF 4




MAINWALK 2 MAINWALK 1

o o st e

| S S — i p— — ———

8 "2 (%W .

()
ELECTRICAL ACCESS PLATE, TYP

i
T w%/é?mlﬁ T AR Y VAN AR

ELECTRICAL PEDESTAL

| S ———

S
| J
B
IS

N
\‘
o

]

J

A1)
g

D URCITY SHED

\— GANGWAY LANDING FLOAT

NOTES:

1. ACCESS PLATES AS PROVIDED MAY NOT BE ADEQUATE FOR INITIAL INSTALLATION OF
ELECTRICAL CABLES. PORTIONS OF DECKING MAY NEED TO BE INSTALLED AFTER ELECTRICAL
CABLES TO ACCOMMODATE INSTALLATION OF ELECTRICAL CABLES. FABRICATOR SHALL
COORDINATE w/ GENERAL CONTRACTOR AND ELECTRICAL CONTRACTOR AS REQUIRED.

CABLING SCHEDULE
LaBeL | CABLE_DESCRIPTON NOTES
A | sc. No. 2/ Tree-w PEDESTAL FEEDER
A\ | 4. no. 8 TYPE-W PEDESTAL FEEDER
A\ | 4c No. 8 TYPE-W LIGHTING

REVISI OMN S N 2230 EEo Do 5500 A
HAIGHT [Re:_o&E DESCRIPTION DWN.] CKD. [APP_] | | Juncau, Atsska 996801 m PETERSBURG, ALASKA
& ASSOGIATES oo S07.556.3003 CONSULTING MIDDLE HARBOR RENOVATION
) g . EN INEERS )
CONSULTING mf:dsf:cﬁ: Incorporated ~
ELECTRICAL SHEET TITLE:
ENGINEERS SOALE CABLING PLAN
526 Main Street, Juneau, AK 99801 ["mm" _MAS  cumcen, _BCH — SCALE IN FEET HEADWALK 6;"!0“7
907) 586-9788 ——
(907) prawn. _PEL_ approven, BCH| 0O 8 {_puao pRosECT M0.042011.02 | nwa. Fre, 46e607.dwg ) \E7 OF W




CABLING SCHEDULE

LABEL CABLE OESCRIPTION NOTES

5C, NO. 2/0 TYPE-W PEOESTAL FEEOER

4C, NO. 8 TYPE-W PEOESTAL FEEOER

LIGHTING

B BB

4C, NO. B TYPE-W

PEOESTAL/LT

(2),

PEOESTAL/LT
(2),
(2),

NOTES:

1. ACCESS PLATES AS PROVIOEO MAY NOT BE ADEQUATE FOR INMTIAL INSTALLATION OF
ELECTRICAL CABLES. PORTIONS OF OECKING MAY NEEO TO BE INSTALLEO AFTER ELECTRICAL
CABLES TO ACCOMMOOATE INSTALLATION OF ELECTRICAL CABLES. FABRICATOR SHALL
COOROINATE w/ GENERAL CONTRACTOR ANO ELECTRICAL CONTRACTOR AS REQUIRED.

PEOESTAL/LT

J A

)
@)

(4
ALT C-(2)

M/
v

\%/

i’ i i i RN
= =Hie =i =t
5 / L/ I/ I\ I /I ik
q
@ J @, / ﬁo ( ) / Wt o( @A /ﬁ’o t( (4)% W' o( Wo o( Wa o(
e o) . ELECTRIOA. PEOESTAL. TYP, UON —/ 2 Z AT c-(2) ® W%
AT C-(2) ALT €—(2)
ELECTRICAL ACCESS PLATE, TYP.
PEOESTAL/LT PEOESTAL/LT
ALT C-(2) (2), (2), (2),
ALT c-(1)%‘\ )0 'kPEOESTAL/LT /(2) )0 [) /(2) )l Ok )‘0 EO)NAWP\ )‘0 0 /(2) )0 k )l Ok
..... padl, A N . . e :
3 I 7 T i L 7 1
a0 == == FHI-= =5
1N ! I i I T 7
g,..‘:’. ‘E—/ — h—l—‘ S s — S — E
@) / m '( @ / Wo :(j @ )ﬂ °( @) / W' '( (2)§j/ '( / m ( ) W‘ '(
A 2
ALT c-(z) ALT C-(2) | % ALT C—(2) ALT C-(2) ALT C-(2) ALT C-(Z)A ALT €—(2)
ALTERNATE 8 | ALT C—(2)
PEOESTAL/LT b8 b ¢l PEOESTAL/LT @A b 1
o) VA o)
: T v T |
p
h @
il e I L =
T - T e
[ | ; AR N
W' K (z)ﬁ ‘z’ﬁ Wl OK(z)Am.—’ Wo o’( (2@ W‘ ) ;-(z)ﬁ
UON
‘| ALTERNATE C !
REVMIS ONS ) 3220 Hospital Drive Ste 200 R
HAIGHT [Re-]_DoAE DESCRIPTION DWN.] CKD- [APP_] | | Juncau, Abska 09801 PETERSBURG, ALASKA
& ASSOCIATES PhorE: 507-55512003 consuLTIN MIDDLE HARBOR RENOVATION )
CONSULTING f,:;?::;ﬁtﬁﬁ Incorporated ......... X
ELECTRICAL SHEET TIMLE.
ENGINEERS SCALE: CABLING PLAN .08
526 Main Street, Juneau, AK 99801 E:sum MAS  cmecken, BCH T SCALE N FEET ] MAINWALK 1 6,,@
(807) 586-6768 1) \orawm _PEL_ approven, BCH|{ 0 8 16 FT. ) \ oare. 4/8/05 _J _pna prosect H0.042011.02 [ owe. Fre: 46e608.dwg ) OF M)




<4)£ \

MATCH A

CABLING SCHEDULE

NOTES

LABEL CABLE DESCRIPTION

5C, NO. 2/D TYPE-W PEDESTAL FEEDER

4C, NO. 8 TYPE-W PEDESTAL FEEDER

4C, NO. 8 TYPE-W LIGHTING

>\ B> | B>

NOTES:

1. ACCESS PLATES AS PROVIDED MAY NOT BE ADEQUATE FOR INITIAL INSTALLATION OF
ELECTRICAL CABLES. PORTIONS OF DECKING MAY NEED TO BE INSTALLED AFTER ELECTRICAL
CABLES TO ACCOMMODATE INSTALLATION OF ELECTRICAL CABLES. FABRICATOR SHALL
COOROINATE w/ GENERAL CONTRACTOR AND ELECTRICAL CONTRACTOR AS REQUIRED.

..,,:,@q...\.n S — _—— B - A ——
it I i i I = I Dm‘ﬂ I \ SHI=
4 A Z SR VY S M S
" / W X X } (e / 1N

@ " v 0| @ "o o @A (.

PEDESTAL/LT AT PEDESTAL/LT PEDESTAL/LT ELECTRICAL PEDESTAL, TYP.

@A

A

ELECTRICAL ACCESS PLATE, TYP.

— 3

PELAWA
1

=
= ;3 L3

MATCH A

@A
"( A

PEDESTAL/LT

m Kz)&wp,
UON

—

b

c m—m— ] ¥ —%

(2),
(2),

PEDESTAL/LT /

FRENVI S OMN s

3220 Hospital Drive Ste 200

REV.| DATE DESCRIPTION

HAIGHT

DWN.

CKD. | APP.

Juneau, Alaska 99801

& ASSOCIATES

.| . |m CONSULTING

Phone: 907-586-2093
Fax: 907-586-2099

CONSULTING

ENGINEERS
Incorporated

www.pnd-anc.com

ELECTRICAL

ENGINEERS

526 Main Street, Juneau, AK 89801

(907) 586-9788

approven, BCH| 0 8

[um MAS  cuecxep, BCH [*°*™® SCALE IN FEET

DRAWN: &

) ol ETERSEURG, ALASKA
,{,/, MIDDLE HARBOR RENOVATION
AN

CABLING PLAN 6.09
MAINWALK 2 oneEr

{_pnsp proJECT 0. 042011.02 | bwo. FLE, 466609.dwg ) \E® OF ¥




TYPE C GANGWAY LUMINARRE (TYP-4)

STAINLESS STEEL TYPE W CABLE. ATTACH TO

CABLE GRIP, ATTACH

TO GANGWAY
WITHOUT IMMERSING CABLE.

POST

WITH GRIPS. ALLOW SUFRICIENT
LENGTH FOR TIOE CHANGES

SEE DETAILS ON STRUCTURAL
DRAWINGS.

4" SQUARE HDG STEEL Posr.—/

STAINLESS STEEL
CABLE GRIPS

ENLARGED DETAIL

SCALE IN FEET

0 2 4
GWAY
i LIGHTING .
L HDG U-BOLTS 14" HDG MOUNTING PLATE,
x
L / \tANDING - HEAVY OUTY TY-WRAP STRAPS
WATER LEVEL FLOAT TYPE C WU
|| T
T SCALE IN_FEET
Rowemactic rax 1
NOTE: 0 ! 2 CONDUIT
1. SEE GANGWAY SECTION A-A FOR LUMINAIRE MOUNTING.
2. SEE GANGWAY SECTION B8 FOR CONDUT MOUNTING.
3. LANDING FLOAT ELECTRICAL GEAR NOT SHOWN FOR CLARITY. AT TN AT N
b r b 0
ELEVATION — GANGWAY : ] ° ]|
i & ] r )3 :-— JUNCTION BOX
o 3/4° UQUID TIGHT NON-METALLIC FLEX
(ﬁwﬁ = Eﬂmﬁ‘ o i - — CéNDUIT ALLOW SUFFICIENT LENGTH
) _ o s 3 L1 FOR TIOE CHANGES
_ j \znzcron CHANNEL, ISOLATE ALL DISSIMILAR
U L, ISOLATE ALL IMI
2-4°C, POWER METALS PER ENGINEER.
HDG CHANNEL PIPE STRAPS
SCALE IN FEET
0 P 4
- FREE NI SO MN = 3220 Hospital Dreive Ste 200 h
OSPI rve
HAIGHT [re-]o&e DESCRIPTION DWN_] CKD. [APP | | | Juncau, Alsska 980t I m PETERSBURG, ALASKA
& ASSOCIATES Phone: 907-586.2093 CONSULTING MIDDLE HARBOR RENOVATION
Fax: 907-586-2099 I d ENGENEES J
CONSULTING S iranios ncotrporate
ELECTRICAL SHEET TITLE, A
ENGINEERS T ELECTRICAL DETAILS 6.10
526 Main Street, Juneau, AK 99801 Eﬁsl@" _MAS  cuecxep, BCH AS NOTED j GANGWAY p—
907) 586-9788
807) orawn, _PEL_ approven, BCH \0ATE: 4/8/05 _____J \ puan prosect #0.042011.02 | owe. Fe. 46e610.dwg__J \E® OF ¥ )




B

<

<

]

s

TYPE Al /

—

/—ANTI-PERCH STRIP, TYP

|e——12 FOOT

ELECTRICAL

ENGINEERS

526 Main Street, Juneau, AK 99801

(907) 586-9788

pestan, MAS
orawn. PEL

cneckeo. _BCH
approvep, BCH

SCALE:  AS NOTED

ELECTRICAL DETAILS

pATE. 4/8/05

| |_— POWER PEDESTAL PHASES AB.C HINGE
GANGWAY LANDING HEADWALK LUMINAIRE STEEL POLE,
PIt_fI 9 MOUNTING BACKPLANE PLATE(S), TYP FLOAT FLOAT
} f | | | (PROVIDED WITH PEOESTAL ENCLOSURE)
Lk o |
6 | | g POWER PEDESTAL NEUTRAL
/_ & GROUND
[‘ "f_ I J ALUM. TRANSITION PLATE
FTKJI— : I STEEL PIPE HINGE ASSEMBLY r"T r\'—r
LIGHTING JUNCTION BLOCK /l I I | _ : :
| |
| ol lo I 18" — o __o_ ‘3 HANDHOLE I I
| | PR A == T BULLRAIL e‘iATSHE SPYLRAJ‘E:T ng-RDINATE
| " o | R :/fl, -\l,'\'/:/;? \ I /_ SUPPORT. I—B-i el BULLRAL
[ | \/—:_\\F\/,\/—\_\ * I
| | FLOAT DECK — LT I I
— ARG
~ /= — -~
> 2 — L / , — S
[11I 1 1 lll T —_— -  AS i Vs nlniﬁ
— i ——— —— —— lg_—-lé
| | =A== ==
Ui 55 CABEE GRIES, TYP TYPE-W CABLES. ALLOW SLACK FOR TIDAL = > T / = = lﬁﬁ
| | ounr owe osTmmuTon eLoc 1o sicieues Ny By gl | oo | -
i h THREADS AS REQUIRED DURING FIELD INSTALLATION. GRIPS TO KEEP ABOVE WATER LEVEL. ik
et Sl o 7 |
) ON STRUCTURAL
o o o ORAWINGS. SIDE VIEW FRONT VIEW
- CA SITIO ELEVATION — LIGHT POLE
NO SCALE NO SCALE
SCALE: 2" = 1"
(4) MODULAR POWER DISTRIBUTION
en.ocxs (ILSCO PDA-14-2/0-1)
POWER DISTRIBUTION BLOCK STRUT, HDG.
O / / (T () ) B e
FOR POWER HEAD. (TYP-2)
/ I
(i i\ — N |
1l L 11 i1
:"\. 1 A SR R
i | NOTE 2
. |- METAL BACKPLANE, TYP (TYP-2)
(PROVIDED WITH PEOESTAL
| U L ENCLOSURE) 7-0"
- -
»
- I~
= \_
\ J ()| .
\ \ J 48
\ O NO SCALE
5/16" METAL PEOESTAL WALL NOTES:
= 1. PEDESTAL ONLY BASE IS ILLUSTRATED. A
P.E:Eg glsmlzesunzo/r:) e;.ocx () WL ALSO BE INSTALLED. SEE L
OUTER EDGE OF TOP pwz (iLsco Pos ) — DRAWNGS FOR DETALS OF BOTH
2. INSTALL FITTING BETWEEN POWER HEAD
TOP Vle a NOTE: AND POST FOR ROUTING CONDUCTORS.
FURNISH DRILLING PATTERN TO STEEL FABRICATOR FOR THE = FIELD DRILL POST.
SCALE: 6" = 1" v SUPPLIED POWER DISTRIBUTION BLOCKS.
DETAIL—-PEDESTAL NO SCALE
SCALE: 2" = 1'
PRENV SION s N 520 HomE) DA Ste 200 N
HAIGHT [Ree DA DESCRIPTION DWN.] CKD. [APP ] | | Juncau, Ancka 99801 | | m PETERSBURG, ALASKA
& ASSOCIATES Phone: 907-586-2093 CONSULTING : 7 n PV MIDDLE HARBOR RENOVATION )
CONSULTING f,f,’,‘w?,fdffcﬁ Incorporated ..... N
SHEET TITLE,

6.11

{_pnan proseCT 0. 042011.02 | pwa. FE 46e611.dwg J \EN OF 14




GANGWAY GUIDE\ [ |

PHOTO EYE SUPPORT POST, TYP
SUPPORT POST, TYP MAIN BREAKER [
SEE CML DRAWINGS
[ ( ) X / ] METER/MAIN ’
- _—

STAINLESS STEEL - (] LIGHTING [—— =
CABLE GRIPS MAIN —\ 1— METER/MAIN CONTROLS EH_,J=1 £ ~
PANEL H
- XFMR - PANEL F
PANEL
F
— PA:EL 7 (2) 3/4"C, FLEX CONDUIT IN FLOAT
TO GANGWAY 1] /
— = 72"
ABOVE
XFMR rsc~_] podd FLOAT ELECTRICAL
H ACCESS PANELS,
J P-4
- F-2 1/2°C, 2 NO. 12 &
-~ | T - - e - - ~ J T_"NO ELECTRICAL CONNECTIONS { 1"NO." 12 GND
DECK /” ALLOWED IN 12" SPACE ABO : L
] [ /] —~ DECK ‘ J 48" AFF, GFI
FLEX CONDUIT UNDER — F-6.8 18"AFF
ELEVATE TRANSFORMER-/ TYPE W CABLE—/ DECK TO UTILITY SHED gw 2?$R1PH - cam e
AS NEEDED WITH SS GRIPS, INTERNAL \\ 1/2°C. 2 NO. 10 we
P THERMOSTAT, ™~ 1"N0 10 GND
CHROMALUX 'LUH
IO OR APPROVED

EQUAL.
NO SCALE 1/2°C, 2 NO. 12,
1"NO. 12 GND

F-9
GFI S
n MANUAL ROLL-UP
/ DOOR
INSULATED GROUNDING CONDUCTOR —
COAT BARE COPPER WITH DE—OX. BRONZE GROUND
CLAMP
BULLRAIL
. SEAWATER ELECTRODE, c Q

STAINLESS STEEL, 8 FT MIN.
(4EA) 3/8" LAG @-4
SCREWS 48"
AFF
GF1
BRONZE BUS SUPPORT
(HUBBELL POWER SYSTEMS —
ANDERSON/FARGO BUR—06-3)
48"
AFF
4 o
]

NOTE:
— SURFACE MOUNT ALL EQUIPMENT ON UTILITY SHED.

\— uTiLmY

SHED

DETAIL — FLOAT MOUNTED SEAWATER ELECTRODE

NO SCALE
J
\—LANDlNG FLOAT
=
( RE N S| OO M =S (. o
3220 Hospital Drive Ste 200
HAIGHT Rl oaE DESCRIPTION DWN.] CKD. [APP_| | | Juncau, Aucke 90801 m PETERSBURG, ALASKA
CONSULTING MIDDLE HARBOR RENOVATION
& ASSOCIATES :’hor:):(:) 79(;’;?82(;:,?93 ENGINEERS )
CONSULTING Kw“;‘;,,_pm;_m;mm Incorporatcd —
ENCINEERS ELECTRICAL DETAILS 6.12
ENGINEERS -~ SCALE: .
526 Main Street, Juneay, AK 99801 oesian MAS  cuecxep, BCH T , LANDING FLOAT/UTILITY SHED ohEET
(907) 586-9768 | ) \orawm PEL__ approven, BCH | O 1 2 4 FT. ) \oate. 4/8/05______J \ puap prosecT #0.042011.02 | pwa. Fue. 46e612.dwg ) \ER OF 4 )




CAP, ATTACH WITH (2) S.S. TAP SCREWS

GLUE STUB TO TEE

WRAP HEAT TRACE THREE TIMES

AROUND BRANCH

BRASS TEE

PVC SCH. 80 TO BRASS
TRANSITION FITTING

6X4 PVC CROSS
ATTACH CROSS TO LOWER PIPE

SEGMENT w/ (4) SS TAP SCREWS

HEAT TRACE THRU %"¢ PIPE, FULL
LENGTH. PROVIDE SUFFICIENT LENGTH

TO REACH J-BOX w/ NO SPLICES.

TRIM AND SEAL ALL ENDS PER
MFG. REC.

6"¢ SCH. 80 PVC PIPE

%"¢ SCH. 40 PVC PIPE. GLUE

CAP ON END 1" ABOVE WATER

LEVEL TO SEAL HEAT TRACE

1"@ SCH. 80 PVC PIPE

w/TRANSITION TO 3%"¢ HOSE

BIBB PIPING @ TOP

o

—

v

FILL SPACE w/ FIBERGLASS INSULATION

8" LONG PIPE STUB
HOLE THRU CROSS FOR CONDUIT

4" PLUG, GLUE TO TEE, TYP.

3/4"¢ FROST-FREE HOSE BIBB
WITH EXTENSION VALVE AND
VACUUM BREAKER. SLOPE TO
DRAIN, TYP.

FILL CANISTER TO THIS
LEVEL WMITH POLYURETHANE
FOAM INSULATION

BOTTOM OF CAP

O BOTTOM LIP OF CROSS

NOTE: PEDESTAL ROTATED 90°
FOR CLARITY

DRILL HOLE FOR TGHT FIT AND GLUE
IN PLACE

3"¢ HDPE WATER LINE

TYPE 1 DOMESTIC WATER
PEDESTAL. ORIENT HOSE
BIBBS AS SHOWN, PARALLEL
TO FLOAT

MOUNT WATER PEDESTAL SUCH THAT
BOTTOM LIP OF CROSS BEARS AGAINST
TOP OF MOUNTING BRACKET.

(2) 316 S.S. STRAPS PER PEDESTAL

WATER PEDESTAL MOUNTING BRACKET :
3%"x2" GALV. LAG SCREW, (4) REQD \,

PER PEDESTAL

P

g |

CONDUIT, TYP. SEE
ELECTRICAL

SAWCUT HOLE THRU
DECKING OF MIN. RADIUS
TO ALLOW LOWER CAP
TO SLIDE THRU

MIN. DISTANCE REQ'D

TO AVOID PEDESTAL
& BEND CONDUIT

¢ J-BOX

¢ WATER
PEDESTAL

3" TO ELEC.
PEDESTAL

CAP, GLUE TO PIPE 3"¢ x 1”6 HDPE TEE WATER PEDESTAL MOUNT - J-BOX. ATTACH
TO BULLRAIL w/ e vy
HDPE TO BRASS TRANSITION SIDE VIEW LAG SCREWS ﬁq_!_ i
FITTING, FUSE x MIPT
4 /7
PVC TRUE UNION BULLRAIL™™\ I i WATER PEDESTAL
BRASS FITTING, FIPT x BARB | Lo
BALL VALVE : WATER PEDESTAL
316 S.S. HOSE CLAMPS, TYP. /_MOUNTING BRACKET
I TRAP
1"¢ FLEXIBLE HOSE, w/ BOTH \ | [ // o |& STRAPS
HOSE SEGMENTS OF SUFFICIENT ¢ yiam i 1
LEGTH TO LAY VALVE ON FLOAT F < t
WHEN SERVICING PEDESTAL ASSEMBLY
NOTE: SEE HEADWALK FLOAT WATER
- PEDESTAL MOUNT FOR DETAILS L . |
WATER SERVICE PEDESTAL & J-BOX NOT CALLED OUT
. € WATER
MIN. DISTANCE REQD ! PEDESTAL
TO AVOID PEDESTAL | |
& BEND CONDUIT ! .
! . MAINWALK FLOAT WATER PEDESTAL
’ | } TYPE 1 WATER MOUNT - FRONT VIEW
T% T1YJI/§ J-BOX. ATTACH I / PEDESTAL
i . . T0 BULLRAL w/ — @
| I /2" HOLE FOR TI— LAG SCREWS ﬂ_!_ b _tp% TYPE 1 WATER
" PEDESTAL MOUNTIN
g It LAG SCREW. TYP g{&f GALV'\| BULLRA'L_\ | ,J:/ BRACKET & STRAPS
" 1 H
) 3% BENT R | | ; LAG SCREW, TYP.
7" ARC 7. | $ L
TOP OF DECK
A 3/87t GALV. STEEL BASE R | T ] /_ g
EDGE /8" | 14 1/27 d * % i
. BENT R | F JI Z
14
| CONDUIT, TYP:
SEE ELEC.
BENT d1,.]
R 5/16 |
—1/4" FILLET TYP EASE ALL |
: EXPOSED \ | HEADWALK FLLOAT WATER PEDESTAL
W ——2 " R EDCES ¥ =1 MOUNT - FRONT VIEW
e
BASE B
-
PLAN NOTE: FIELD TREAT ALL TIMBER DRILLED
WATER PEDESTAL ELEVATION HOLES PER AWPA M—4
MOUNTING BRACKET
REV IS OMN =S N 3220HospitlenveSm20? 4 -~\\\<\)‘F\:I|.. N\ PETERSBURG, ALASKA N
REV. DATE DESCRIPTION DWN.| CKD. | APP. E Juneau, Alaska 99801 MIDDLE HARBOR RENOVATION
CONSULTING Ph : 907-586-2093
Incor oratcd ENGINEERS Fa::n;07-5863-2099 \_ DOMESTIC WATER SYSTEM )
\_ p www.pnd-anc.com Ve 1 04\
SCALE: I .
pesion _AWS crecxep, _CRS '...m\ﬁ‘e DOMESTIC WATER LINE DETAILS
AS SHOWN SIETG
| ) \onawn _AWS _ approvEm: CRS. ) \oate,_8/19/2005 ) \ puap proect #0.042011.02] owa. maes J\4 o 6)




FIELD DRILL 3%"¢ HOLE

THRU BULLRAIL, DECK,
SUBDECK, & NAILER,
CENTERED OVER VALVE, TYP.

%"¢ BOLT w/M.. WASHER
THRU DECK, SUBDECK,
NAILER & HANGER TOP

%' x 4" HDG LAG, TYP.

VALVE OPERATING HANDLE ON 34"¢ T316 S.S.

RISER STEM. PROVIDE SUFFICIENT THREADING

FOR RISER STEM LENGTH ADJUSTMENT IN THE FIELD.
ORIENT TO BE PARALLEL w/ FLOAT WHEN VALVE OPEN.

NUT w/ LOCKNUT AND BUSHING
BOTH SIDES w/i %" OF BRACKET

NOTE: BULLRAIL & VALVE RISER ASSEMBLY

NOT SHOWN THIS VIEW

FOR CLARITY

M
AHEADWALK FLOAT

Phone: 907-586-2093

R, TYP. VALVE RISER BRACKET, TYP.
HEADWALK FLOAT
STEEL PIPE \, ] : _ 6x6 BULLRAIL «
HANGER, TYP. ' \ \ VN i 4 _——(2) 2'x6"J4" ZNC ANODES N i
UHMW BULLRAIL \ T Q &
POST, TYP. \\] \l\ o\ L . | _J— 2x DECKING l—q
A <J_— 2x SUBDECK ; /
\ P NS 'S 7
7 X 1\ 2x NALER “Teldl :@: @g@ b AR
/ [} n 7 7 7 AN X X
i / / I .
y 3"¢ HDPE HEADWALK FLOAT STEEL  ™—-—¢ SUBDECK,
_/—/ 38 HDPE HEADWALK FLOAT PIPE HANGER w/TOP R, TYP. NAILER, PIPING
1,/\ WATER LINE FIBERGLASS PIPE 378 VALVE, TYP.
= - HANGER, TYP. i
o OUTSIDE EDGE 3"9 HOSE FROM SHORE
¢ o 00 | NL_00 I ? SUBDECK & NAILER 3" HDG STEEL TEE
[0l | el OUTSIDE EDGE
H%’EEVGJ&ESFE?PAET 3"8 NON-METALLIC 1316 S.S. VALVE STEM ADAPTER RUBBOARD
VALVE, TYP. PREFAB TO FIT 2" VALVE OPERATING 3"¢ HDPE ELBOW,
HANGER, TYP. VONEL BOLIS & NUT. BELD TO RISER STEN TYP. HOSE FROM SHORE CONNECTION /
3" HDPE ELBOW, NUTS OR FLANGE . _ VALVE DETALS - PLAN
44 INSULATION. KIT w/ %"¢ HDG STEEL U-BOLT, TYP. L ETAILS - P
HDG BOLTS & NUTS 3" HDG STEEL 150 LB.
NOTES: 1. RUBBOARD NOT SHOWN  BOTH ENDS OF HOSE FLANGED TEE
THIS VIEW FOR CLARITY .
2. SHIFT ASSEMBLY UP OR 3°¢ DOMESTIC WATER
DOWN BULLRAIL SEGMENT H;)SE FR(F)MA NS(I;IORE w/
AS REQ'D TO AVOID UHMW ISQIESFEANGE 2%
BULLRAIL POSTS HOSE FROM SHORE CONNECTION /
" GALV. TOP OF MAIN
VALVE DETAILS - ELEVATION e /—rﬁ’&? D WALK
2" " 2"
HOLE FOR 3
%" LAG, TYP. N ey I I
O 3
Y% HOLE FOR /6 6 STRINGER
Top *t-\ %0 RISER STEM | ! g 3
= k 12 | L—(2) K x 47 HDG
™ VALVE RISER BRACKET LAG SCREWS w/CUT
NOTE: ALL STEEL AND CONNECTION HARDWARE 2 . J‘_ -
5/16 TO BE HOT-DIPPED GALVANIZED 2% A
UNLESS OTHERWISE NOTED 3:::::5/
—
STEEL | —GLULAM
2'-234" ~__ T 2'=1J& LONG PC. NON-SLIP
4 3% x 3 GALV. FIBERGLASS CHANNEL
STEEL R 3"t HDG
STEEL TOP R N
" ~
|_——%:"s HOLE FOR . ) .
& %" U-BOLT, TYP. %'® HOLE, ~ 2 . .
TYP. \@_____@__ 4" POLYURETHANE FIXED PIPE | 272 OR 3¢
¢ PIPE M MATCH 270 OR CLAMP w/POLYURE THANE ~ HDPE
& "5 PIPE U—BO | | CONNECTION BOLT &
g” IPE U-BOLT W% i DOUBLE POLYURETHANE e
IMENSION S — . NUTS
I i Y
% 6
STANDARD FIBERGLASS PIPE
STEEL PIPE HANGER - ELEVATION -
: STEEL PIPE HANGER - PLAN NOTE: SPACE HANGERS @ 9 0.C. MAX HANGER ASSEMBLY
NOTE: (4) STEEL PIPE HANGERS REQ'D
HEADWALK FLOAT, (4) REQD
MAINWALK FLOATS @ VALVE LOCATIONS
(" RE N SO s R 3220 Hospita Drive St 200 s :“\\B‘F‘:""' N PETERSBURG, ALASKA M
REV.] DATE DESCRIPTION DWN. | CKD. [ APP. \ m Juneas, Alaska 99801 \ TN MIDDLE HARBOR RENOVATION
CONSULTING

DOMESTIC WATER SYSTEM )

ENGINEERS | oy 907-586-2099 N
Incorporated Lk —_—— <
oesiam _AWS cxen, CRS |CALE "%f”w o DOMESTIC WATER LINE DETAILS 1.05
o= S SHOWN e sHEET
) \oRawm, _AWS = approven, CRS A \oate._8/19/2005 ) | puap prosect #0.042011.02 ] owa Fax: J\5 oF 6)




	0-2 PLAN SET COVER-ms
	Middle Harbor Float Repair - Project Manual - Vol2



